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Tides occur in oceans and seas due to which of the following?

a) Gravitational Force of the Sun

b) Gravitational Force of the Moon

¢) Gravitational Force of the Earth

Answer Options :
1) (a)only 2) (a) and (b) only 3) (a),(b) and (¢) 4) (b) and (c) only

Ueh I<hl Uebl STUTIT I alesdcrd Tebera SHT It SATfoT ar forer IHT1 gia T foepmomirgg 4 fot gaiet
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A person stood alone in a desert on a dark night and wanted to reach his village which was situated
5 km east of the point where he was standing. He had no instruments to find the direction but he
located the polestar. The most convenient way now to reach his village is to walk in the

1) direction facing the polestar

2) direction opposite to the polestar

3) direction keeping the polestar to his left

4) direction keeping the polestar to his right

Q) 31eTieT, NREieT, UHIUEeS
GTeliel RSB PV MR g Faid STae R 31 ?

q) TEH R) TRER 3) TR 8) gu
Among the following cities, which one lies on a longitude closest to that of Delhi?
1) Bengaluru 2) Hyderabad 3) Nagpur 4) Pune
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Which one of the following pairs of islands is separated from each other by the “Ten Degree
Channel”?

1) Andaman and Nicobar 2) Nicobar and Sumatra

3) Maldives and Lakshadweep 4) Sumatra and Java

IR My, auidiel Fara Ao e AR ............. Iar

9) ST dfegrEr gERds Q) ST df=IrET §ART JUREe

3) St HfE=ET deRael 8) ol HZRITET GURT GtRae]

In the northern hemisphere, the longest day of the year normally occurs in the:

1) First half of the month of June 2) Second half of the month of June
3) First half of the month of July 4) Second half of the month of July
9 S IS P

9) MfFeD Tehet AY ARt Wielt e B 1
Q) 3eifacd Adhar A fafaeT=an Wieft We g A

3) RIYagaeR gURET dd IR 3eERes aHa

¥) Ao T I wfegerear X1 RIS THdd

On 21st June, the Sun......

1) does not set below the horizon at the Arctic Circle
2) does not set below the horizon at Antarctic Circle

3) shines vertically overhead at noon on the Equator

4) shines vertically overhead at the Tropic of Capricorn

FIIAR fead Sfr e Aeme TR ... 9o gl
q) geata foram srermar fthvor R) Yeatl JIMIE FdaIpR Tefaom
3) oo arerier R 8) FehoiedT 3T&TeR g ehici!

Variations in the length of daytime and nighttime from season to season are due to ............

1) the earth’s rotation on its axis

2) the earth’s revolution round the sun, in an elliptical manner
3) latitudinal position of the place

4) revolution of the earth on a tilted axis

3) YHUTA
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Which of the following are responsible for bringing dynamic changes on the surface of the earth?

a) Electromagnetic radiation b) Geothermal energy

¢) Gravitational force d) Plate movements

e) Rotation of the earth f) Revolution of the earth

Answer options :

1)a,b,c,dand f 2)d and f only 3)a,b,cand donly 4)b,d and e only

() gt STERT, Y Mo STergdt, Himiferes afered, en

q) G AR, Yy 0T SATArE!, Esdh
GTefietidh! DI I SRR 31ed /3med ?
31) R RIS SATTHE! & WRAT U U SReiell Afshd SaTerg@! 3.
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%) A RIS SATAHEE] AgeaT Sab %9 HL FTel BT 37T degrary Al Ffshar 3.
qift S :
q) (81) Hh R) (1) o () Wk 3) (1), (¥) 37T () 8) (3) AN (F) Feh
Which of the statements given below is/are correct?
a) The Barren Island volcano is an active volcano located in the Indian Territory.

b) Barren Island lies about 140 km east of Great Nicobar

c) The last time the Barren Island volcano erupted was in 1991 and it has remained inactive since
then.

Answer Options :

1) (a) only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only

3) Yo, Hfern Afdred

SIAIHE 3BaT Vel SITORT ' 'sicge ' & el Qietietdeh! Piurean Heameft Fefer amg 2

q) g yred fT=aTenTeran Haer
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3 afRfem e anfor g it STIftheT ST Tl

8) YHET G U7 AR 9RT

The term “Levant" often heard in the news roughly corresponds to which of the following regions?
1) Region along the eastern Mediterranean shores

2) Region along North African shores stretching from Egypt to Morocco

3 Region along Persian Gulf and Horn of Africa
4) The entire coastal areas of Mediterranean Sea
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“Climate is extreme, rainfall is scanty and the people used to be nomadic herders.”
The above statement best describes which of the following regions?

1) African Savannah 2) Central Asian Steppe

3) North American Prairie 4) Siberian Tundra

D oo HHl-3Ifie TG ARE 3T, Aehies TG RIS MU THDHIR 3R ;
STRISTAT G ST R Fedl, IUIT T, Pled & TIR Il ATUET TSTSIC ST ST SHehecrig
UTH_T TSl U1 UTS-d dIaeh’d e, aRIel IRTSSHE Welieludh! Do UG Jui dhel 31Tg 2

) T Q) fagagw 3) AL 8) YL ARR

“Each day 1s more or less the same, the morning is clear and bright with a sea breeze; as the sun
climbs high in the sky, heat mounts up, dark clouds form, than rain comes with thunder and lightning.
But rain is soon over.” Which of the following regions is described in the above passage?

1) Savannah 2) Equatorial 3) Monsoon 4) Mediterranean\

3) Tdd, UOR, #SM, dIdde

WA PR S R el MR 2

Hhifers afdrea 9T

q) AR TSR SNEDI]

?) dfce™ wad JAIR-Ufeqq 3Mfohept
3) T gRered Sferor-ufegs aMithept
¥) INPIIT Termf~rr

Which one of the following pairs is correctly matched?
Geographical Feature Region

1) Abyssinian Plateau Arabia

2) Atlas Mountains North-Western Africa
3) Guiana Highlands South-Western Africa
4) Okavango Patagonia

3MORepT SMOT R aTwac UgT IR BIUATd H¥ HIRUI/HRUT DIV 3R, e ?
31) g SU-SWhledtiT 99 ¥ Yecamed fRUT IMR.
9) ¢ ISR AR VaTgiean Tt 1.

it S
9) (31) Heh R) (¥) wch
3) (31) afor (9) el 8) (1) fobar (3) SErdr ATt

What could be the main reason/reasons for the formation of African and Eurasian desert belt?
a) It is located in the sub-tropical high pressure cells.

b) It is under the influence of warm ocean currents.

Answer Options :

1) (a)only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

TERTY IISTAFT ARRY a1 geoRten ARl : HgRIg, YRa SN0 ST et / 90
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gfee 3Mfhapcicd Wetlelidh! PV IRIIR HRS B dieddcid dgaiel Mg ?
q) fRFaIRal TR~ ) HIETET IR 3) 3T IR ¥) @leal WRIR

Which one of the following lakes of West Africa has become dry and turned into a desert ?
1) Lake Victoria 2) Lake Faguibine 3) Lake Oguta 4) Lake Volta

A} ST Sfefihecal Il Walieludh! DU /A fId Fel /Gabel 318 ?

37) IR TG q) P TG ®) SPA IR
it S
9) (d) wh R) (9) afor () 3) (31) afor () 8) (31), () 3y ()

Which of the following has/have shrunk immensely/dried up in the recent past due to human
activities?

a) Aral Sea b) Black Sea c) Lake Baikal

Answer Options :

1) (b) only 2) (b) and (¢) 3) (a) and (¢) 4) (a), (b) and (¢)
¥) eI 3Mfor FRER

gedft TR, FEAP M U AT Shien e Jnfdy fEmen weu offe. SRetedT T qroamie,
Fatd AIG JHT ...

q) GATERVIT 3T ST ST FgU TG

Q) TET YT deid STfOr TelHed 3fieosd.

3) YoIeT TRV AT 318

g) Sfeiidier SAieltar =gud STfedeard 31e

On the planet earth, most of the freshwater exists as ice caps and glaciers. Out of the remaining
freshwater, the largest proportion ............

1) is found in atmosphere as moisture and clouds.

2) is found in freshwater lakes and rivers.

3) exists as groundwater

4) exists as soil moisture

gedf} FRTeRlel oA Wi, Wietietdeh! hivid fae /= SRIsR 3fTg/3MTed ?

37) eI ST AeTareiel UTuaTe HHIOT STerredT FHTOIET STR 37T,

9) YT IOTT IR AT feAermelieT aTudTe T SSTclrea] HHIUMUE SR 31T,

gt SR :

9) (31) Bh ) () Bh

3) (an) amfor () < 8) (1) fobar (%) It el

With reference to the water on the planet Earth, which of the following statements is/are correct?
a) The amount of water in the rivers and lakes is more than the amount of groundwater.

b) The amount of water in polar ice caps and glaciers is more than the amount of groundwater.

Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

TERTY IISTAFT ARRY JaT geote Arnft : ARy, YR ST SR et / 9¢
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WTeAleTih! PIuTh /T et /S RISR Jesell /T 3Tg/ Mg ? (A} - & fArsa)

37) HepHT ~ 3T T

¥) =g - IR %

&) @I — BRI TG

SEICE - fed meramR

gt SR :

9) Wheh 37 3MUT § Q) Bh B 3) P 37T S Heh ¥) o, § 371 & Hheh
Which of the pair/s given below is/are correctly matched ? (River - Flows into)

a) Mekong - Andaman Sea

b) Thames - Irish Sea

c¢) Volga - Caspian Sea

d) Zambezi - Indian Ocean

Answer Options :

I)aandb only 2) c only 3) cand d only 4)a,bandd only

RATHYT aTgdTd. AT Felideh! SEIgaT HRATT JEUIRNG! g T Bd. & F T ... T 3R,

q) g1 feATerie udaHTfeTdhd el Saaer

R) yrvifugEar qour feer fRiciavmaa dfen

3) =R wiess RATeRIT gdaHTleidd el SiT—Caci+ ST

8) alerthl gl () 3o ()

The Brahmaputra, [rrawady and Mekong ‘ rivers originate in Tibet and flow through narrow and
parallel mountain ranges in their upper reaches. Of these rivers, Brahmaputra makes a “U” turn in
its course to flow into India. This “U” turnis due to...........

1) Uplift of folded Himalayan series

2) Syntaxial bending of geologically young Himalayas

3) Gee-tectonic disturbance in the tertiary folded mountain chains
4) Both (a) and (b) above

(3) ITdTERYT 3O FaMHE, IR 3T AERITR YaTE

S CIGIERU

ATl DIl faem sRIeR 3R ?

37) SATERleT & I AR fafder ufifdfed axara enfor geefan geum o avdrd.

) ot Sfakier @Mied gediear YSHATER FEu=IT S96RS U S JHI0T SNY0T SIedTe
GIEEIEEI N

gt IR :
9) (31) Heh ) (§) b
3) (31) afor (@) gl 8) (1) fbar (3) SErEr ATt

HERTE IISTART ARRY HaT GauRia At : AgRIY, WIRd 3101 ST 4Fe / 9%
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Which of the statements given below are correct?

a) High clouds primarily reflect solar radiation and cool the surface of the Earth.

b) Low clouds have a high absorption of infrared radiation emanating from the Earth’s surface
and thus cause warming effect.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

IS AT Tg A BT TR B AT ?

q) S YeaTeAT JEHIER e foh_ulica M e,

R) & At fawuieanid wRa ufafdfed axard.

3) T T gedieaT gSHETT dTadT el 3R,

¥) T ATEUIRAT ATATAT STHHIAT UTcedioRid Jesddd.

Why are dewdrops not formed on a cloudy night?

1) Clouds absorb the radiation released from the Earth’s surface.

2) Clouds reflect back the Earth’s radiation.

3) The Earth’s surface would have low temperature on cloudy nights.
4) Clouds deflect the blowing wind to ground level.

R) R, dI<s MO HERINR T8

Sféor Memerieier afeeH IR @ SR Aeaied] gerrid 3t Foige MM FRRR RAId. i ?
37) IR MATUTAT Jeid SfaT MeTald U HH 2.
) IR TMeyiear Jerid Sl Mendid IR g ST 31g

gt IR :
9) (37) Heh R) (¥) wch
3) (31) 3for (9) gl 8) (37) fobar (3) SEret At

Westerlies in southern hemisphere are stronger and persistent than in northern hemisphere. Why?
a) Southern hemisphere has less landmass as compared to northern hemisphere.

b) Coriolis force is higher in southern hemisphere as compared to northern hemisphere
Answer Options :

1) (a)only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

AT HIoRT e/ sRIaR 3N/ 3R ?

37) IWRICTUT TS, SR ARITeAT THIETes HEITR Uf3EHdslel AN Yddherat TRTTUET SR
FIqR JAFATC.

) FEefiarsT Teend, URRHSS Teel HERITRT Jadbeld T f3Ed fAumTier it IR .

Tt S :

9) (31) Bh Q) (d) &h

3) (3n) amfor (3) <= 8) (31) fobar () Q= et

Consider the following statements:

a) In the tropical zone, the western sections of the oceans are warmer than the eastern sections
owing to the influence of trade winds.

b) In the temperate zone, westerlies make the eastern sections of oceans warmer than the western
sections.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

HERTE IISTART ARRY HaT GEuRie ARl : 9gRIg, IR 301 SIRTfie et / 0
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GTefiedeh! Pl faer /= sRIeR 37R /378 ?

37) AR 3o 3T IR MM go 3fer SV eI VIR IR UFGH IR IR FgU 3Teseded
ST

9) HRATRT I/ ITR-UREH U2 fRaTedTd sMeasy VT JeetRl BRUT 3egth argRielt ar

gfegH! QMR =TT 91T 3TRd.

qgift S
9) (31) Heh R) (¥) wch
3) (31) afor (9) el 8) (1) fobar (3) SErdr At

Consider the following statements

a) The winds which blow between 30 degrees N and 60 degrees S latitudes throughout the year
are known as westerlies.

b) The moist air masses that cause winter rams in North-Western region of India are part of
westerlies.

Answer Options :

1) (a)only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

IehfCaEi SrefienHed Sfar sreetifce STl sferr gd URifthes e, dshlaree Sgad ATel,
PRI HRI MR ?

q) TSI YSHNTR AT9H HHT 3R

Q) IR SWHfeaefT IR &5 Hiuaa g
3) DIRSNMRT 9T WY BAGIT 3R

) T YN ST RJ0T

In the South Atlantic and South Eastern Pacific regions in tropical latitudes, cyclone does not
originate. What is the reason?

1) Sea Surface temperature are low

2) Inter Tropical Convergence Zone seldom occurs

3) Coriolis force is too weak

4) Absence of land in those regions

9) fayaexii g Q) YHERARRIY g

3) AT B ¥) eIt 94 A

The seasonal reversal of winds is the typical characteristic of .......

1) Equatorial climate 2) Mediterranean climate
3) Monsoon climate 4) All of the above climates
Teflertch! P e /3 SRR 3R/ 3med ?

37) S JaTg Beh IR Merteld Mgesdd.

¥) Tch PRl TEhiaCEMed ST fAfRid gial.

&) ThIATGHTAT SIIIe ATIH STS[ETSIT JTIERUTET STI@URT do 3T HHI 3.
gl I :

9) %h 31 ) § 370 & heh 3) 9 %Beh ¥) aF M0 & Fch

HERTE IISTART ARRY HaT GauRia At : AgRIY, WIRd 310 ST e / 29
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Which of the statements given below is/are correct ?

a) Jet streams occur in the Northern Hemisphere only.

b) Only some cyclones develop an eye.

c¢) The temperature inside the eye of a cyclone is nearly 10 °C lesser than that of the surroundings.
Answer options :

1) aonly 2)band c only 3) b only 4)aand c only

HETX U418

GTAIAUDT PV Tedh AR VaTgiaR THTa ThdTd ?

37) gedtd aRyHur ) gaaT g9 3MfoT arT

%) HERITRIAT YTogTelt Gt $) gedrd gRae

IR SR :

q) (31) T (&) Bh Q) (3N), () T (F)  3) (3), () 3 (3) 8) (31), (), (®), (8)
Which of the following factors influence the ocean currents?

a) Rotation of the Earth b) Air pressure and wind

c) Density of ocean water d) Revolution of the Earth

Answer Options :
1) (a) and (b) only 2) (a), (b) and (c) 3) (a), (c) and (d) 4) (), (b), (c), (d)

fayaqia Bree-aneal gddmeid Yalg B T8 el ?

q) geafir forear eramar fohsor

R) A fayggd Hargra SR

3) UTOITRAT SRAHEY R

¥) fIyagdcias. aidadear ggeard! ge

What explains the eastward flow of the equatorial counter-current?
1) The Earth’s rotation on its axis

2) Convergence of the two equatorial currents

3) Difference in salinity of water

4) Occurrence of the belt of calm near equator

SRfTITT AUITT FEYRT &1 41 RO STl [T 3MTE. T =1 T UeT AU SheliehRaT oTes!

ARNITETE 3Me 2

37) o T &1 gy fEsl AR SRMT 3T &8 ARRIVATg 37e, TR Ul 1 &1 fagag<ia
I AERATRICE SR 31 S9GR AFRIVATE 32

9) U R ARATRAT ARl AIeR fauRid aRemd gidl, aR A aTdTeRveR ol (AT ShiordTel
T9IT TS TE.

it S
9) (31) Heh R) (¥) wch
3) (31) afor (9) el 8) (1) fobar (3) SErdr ATt

HERTE IISTART ARRY HaT JEuRia ARl : AgRIg, WIRd 3Mf01 SRR et / R
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La Nina is suspected to have caused recent floods in Australia. How is La Nina different from El

Nino ?

a) La Nina is characterised by unusually cold ocean temperature in equatorial Indian Ocean
whereas El Nino is characterised by unusually warm ocean temperature in the equatorial Pacific
Ocean.

b) El Nino has adverse effect on south-west monsoon of India, but La Nina has no effect on
monsoon climate.

Answer Options :

1) (a)only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

3) §AMM, ISiIHH

ATYRUIUI, GedTea] JSHATIRIT S9! dleed™ di9a HHI 8, PR ........
37) ATATERCT hacs Gl USHNTES avadT e TRH dhel ST1S» 2l

) IR TR SR 3TTedT 3R

P) IRIT IIATERUINT gal HHI TIe I

i SR :

9) (31) ST (F) Hch Q) (1) AT () 3) (@) snfor () 8) (31), (3) amfor ()
Normally, the temperature decreases with the increase in height from the Earth’s surface,
because........

a) the atmosphere can be heated upwards only from the Earth’s surface

b) there is more moisture in the upper atmosphere

c) the air is less dense in the upper atmosphere

Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)

RIS SR HHTIT ATGHTTE aTfiis Sioft. fhTRuS e WHTeal Jeiid STR< 3Tg. Tl Rl /BRl
P 3MMad /3Mad ?

31) SIfEIder aTudTdtel SHifSrs wd

¥) HEGIT 3T AeRIRMEie SOt TR

&) 3Tl HAT SIRGR aTTell SUfR

3) forafear gemia Sidiel 9RTd JHSUR Ured

qift S :

q) (31) h R) (3N), (@) 3for (®)  3) (30), () 17 (3) ) (31), (3), (), ()
The annual range of temperature in the interior of the continents is high as compared to coastal
areas. What is/are the reason/reasons?

a) Thermal difference between land water

b) Variation in altitude between continents and oceans

c¢) Presence of strong winds in the interior

d) Heavy rains in the interior as compared to coasts

Answer Options :

1) (a) only 2) (), (b) and (c) 3) (), (c) and (d) 4) (a), (b), (¢), (d)

HERTY IISTAFT ARRY HaT GauRia At : AgRIY, WIRd 3110 ST e / 23
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Ocean Mean Temperature (OMT) =7 HeHfd, Wieflefidh! PIvr e /3 sRieR 3R/ 3med ?

31) OMT STHaRI-H71F ST <famT-ufed fie AermRIa 4°C qHaIraT Wi Aol ST o 93%
ey 3.

) STHaR ARAE Aehferd heted] OMT T AR AU JTasiTa JHTOT SRIde Qreiehlet=T SRIARIYET
T fohaT STRT 3TId ITe JeiichT RUARATG! hell ST Tehall.

Tl PIS Aqw TG IR FaeT

9) theh 3 Q) Beh § 3) 37 3Ifr § g ) 31 fohar § AR

With reference to Ocean Mean Temperature (OMT), which of the following statements is/are

correct?

a) OMT is measured up to a depth of 26°C isotherm which is 129 meters in the south-western
Indian Ocean during January — March.

b) OMT collected during January March can be used in assessing whether the amount of rainfall
in monsoon will be less or more than a certain long-term mean

Select the correct answer using the code given below

1) aonly 2) b only 3)Bothaandb 4) Neither anorb
oIS |

el PV g SIS T e Sfreagul g aie ?

9) TR IHT TSl Q) U Tch fedTedTd gsal

3) T I g PRSI g ¥) wh e pReT Infor anelr &

Which one of the following is the characteristic climate of the Tropical Savannah Region?

1) Rainfall throughout the year 2) Rainfall in winter only

3) An extremely short dry season 4) A definite dry and wet season

TETSIC! ARG TP HESHT ... gR i 2.

37) ITHIAT PRIAITeT Sl d3Db
¥) a9 T NS PR TS
%) T ITfOT oAl Hordt fGAD SHeaH! glerdret.

g} SR :
q) (31) 3nfr (9) Heh R) (3) 3nfor ()
3) () 3Mfor () ¥) aRicTieh! PIufigl HERTSHT PR ATel

During a thunderstorm, the thunder in the skies is produced by the ............

a) Meeting of cumulonimbus clouds in the sky

b) Lightening that separates the nimbus clouds

c¢) Violent upward movement of air and water particles.

Answer Options :

1) (a) and (b) only 2) (a) and (¢)

3) (b) and (c) 4) None of the above produces the thunder

TERTY IS AR T gaoien el : HgRIg, YR 3Nfor Simfores it / 8
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(8) SIRIfAP FAIhEET, UTHT, 9T, SIFTfcieh TRA 3Mfor Wi

q) SIIfaeh AR
Q) snfeardt, ger, ST

WTefleTih! DU SIS SRR Sesett /Mg 2

e HHt et arT A ISP gaRenHed

31) P . ST

) At . AUTS

&) fgwr . RIFER

Tt SR

q) (31) SMfor (3) Hh ) () AT () 3) (@) snfor () 8) (31), (3) amfor ()
Which of the pairs given below is/are correctly matched?

Community sometimes In the affairs of mentioned in the news

a) Kurd : Bangladesh

b) Madhesi : Nepal

c) Rohingya :  Myanmar

Answer Options :

1) (a) and (b) only 2) (a) and (c) 3) (b) and (c) 4) (a), (b) and (¢)

3) HiIMforp ISTHRUI, SR M 31for fr
Sfaur-gd SRRl Wielial e) Sfihgd STRes SITd. ST il Gc-idl I 37 BRI Mg ?

31) depiep q9) &S %) STeprd s) R
IR SR :
q) I-H-8-3 Q) I-8-31-h 3) 9-8—-h-3 8) S—F—-h-37

What is the correct sequences of occurrence of the following cities in South-East Asia as one
proceeds from south to north?

a) Bangkok b) Hanoi c) Jakarta d) Singapore
Answer Options :
I)b-c-d-a 2)b-d-a-c 3)b-d-c-a 4)yd-b-c-a

TATAthT HIoTCT /T STIET /STeaT IRIeR Jeselt /T 318/ 3T ?

g et gor
37) Ufgnfed aug aresIferT
q) P TG PITfIrRIT
D) BRI GG P
) I A SINE]
) offel G HRa
IR SR :
9) 3H, 9, P, S Q) 3, ¥, b Bh 3) 3, P, $ BHh 8) ¥, P, S Bch

HERTE IISTART ARRY HaT GauRia At : AgRIY, WIRd 3101 ST e / 9
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Which of the pair/s given below is/are correctly matched ?
Sea Bordering country
a) Adriatic Sea Albania
b) Black Sea Croatia
c¢) Caspian Sea Kazakhstan
d) Mediterranean Sea Morocco
e) Red Sea Syria
Answer options :
1)a,b,c,d 2)a, b, c,only 3)a,c,donly 4) b, ¢, d only

9) <hTesT HHG SM0T DHIGT TG Q) P T, T YHET TS

3) U AT M e |y, 8) STHIETT STRATA 3T I g
Turkey is located between ......

1) Black Sea and Caspian Sea 2) Black Sea and Mediterranean Sea.
3) Gulf of Suez and Mediterranean Sea 4) Gulf of Agaba and Dead Sea

e TG Wetiethl Ppiorem ot Hiar amg ?

37) e J) Wb P) g 3) AR

gl ST :

q) (31) 31 (3) Weh Q) (31), (I) 3o (B) 3) () 2Mfvr () 8) (31), (@), (@), (3)

Mediterranean Sea is a border of which of the following countries?

a) Jordan b) Iraq ¢) Lebanon d) Syria
Answer Options :
1) (a) and (b) only 2) (a), (b) and (c) 3)(a) and (d) 4) (a), (b), (¢), (d)

fror-uf3em SRRTel @ietlefich! IV Qard HHRST YHET TG SN ATal ?

q) <R R) S 3) olg A 8) SARIE

Which one of the following countries of South-West Asia does not open out to the Mediterranean
Sea?

1) Syria 2) Jordan 3) Lebanon 4) Israel

........ TNl BTl eI Plalde] SITRITHEd ‘Mol gigcd’ AT &5maT Sgd gidl.

q) Fer anfm Q) 7e i 3) SfRor-ud enfmm  8) Hem Sfthent

The area known as ‘Golan Heights’ sometimes appears in the news in the context of the events
related to:

1) Central Asia 2) Middle East 3) South-East Asia 4) Central Africa

ATl PIorcht/cam el /e sRIsR Tebelt /T 3R /3N ?

el weftnelt Sgva et U9l : 29T

) Pl — W §) R - @t %) fiermen - RfaftT  ©) Rt — AreRan
gl IR :

9) (31) 3Mfr () weh Q) (1) 3mfor (&) Heh

3) (31), () MfUr ($) Heh 8) (31), (d), (d), ()

HERTE IISTAFT ARRY HaT GauRia At : AgRIY, WIRd 3101 ST e / €
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Which of the pairs given below are correctly matched?

Regions sometimes mentioned in news : Country

a) Catalonia — Spain b) Crimea — Hungary

¢) Mindanao — Philippines d) Oromia — Nigeria

Answer Options :

1) (a) and (b) only 2) (a) and (c) only 3) (a), (c) and (d) 4) (a), (b), (¢), (d)

GTefieTidh! PITT T AT SRRl 31mg ?

31) ISR ) fopficam ®) diivifee

) pHA 3) SR

it S :

q) (31), () 3T (3) weh R) (31), (), () 37T (3) Peh
3) (@), (3) 3" (3) weh 8) (31), (), (@), (8) 3Mr (3)
Which of the following countries have borders with Afghanistan ?

a) Azerbaijan b) Kyrgyzstan c¢) Tajikistan

d) Turkmenistan e) Uzbekistan

Answer Options :

1) (a), (b) and (e) only 2) (a), (b), (c) and (d) only

3) (¢), (d) and (e) only 4) (a), (b), (c), (d) and (e)

(4) SIRIfA WfFoY, SeRT, aTedes 3o wied, o=, FHt

q) ST Pt HERAT, ARARI

ST At Aerat ARERIE! fSbror . PIVAT YSIATT JATSHBAT.
9) ISR 3T e ITATERUIT YaTg Tehal AT

R) &I HIGAT YHIUTT s dToft AHGTd A

3) SEER AT 8 AR JaTg Ueha AT

8) R et el 3Te

The most important fishing grounds of the world are found in the regions where ............
1) warm and cold atmospheric currents meet

2) rivers drain out large amounts of freshwater into the sea

3) warm and cold oceanic currents meet

4) continental shelf is undulating

TERTY IS AR T gauten wrft : FgRIg, YR o1 ST et / 0
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) 1 3ol gafaRur

GTefictieh! PIvR fagae SeTr afinesr/afdied aimed /3Tmed ?

31) HAd B IR BRUMIT GHCRIg I, Siaesed] SAsrdl IR

¥) Aol IR TN I3t

&) TRRIECTR SRied ST SufRerdt

Tt S :

9) (31) 3T (F) B Q) (1) AT () 3) () nfor () 8) (31), (3) 3nfor ()
Which of the following is/are unique characteristic/characteristics of equatorial forests?

a) Presence of tall, closely set trees with crowns forming a continuous canopy

b) Coexistence of a large number of species

c¢) Presence of numerous varieties of epiphytes
Answer Options :

1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)
e I, TITeRUIT ITRIRIGRIE Tfshar FU, Tadmast .......... g SASIE 39Ul g AT,
q) i 3MoT gReft Q) TfET SRITRIST SMOT UINep Teaidl! SR
3) groft Fafer amfor e 8) NIl PRI ATer

In the grasslands, trees do not replace the grasses as a part of an ecological succession because

1) insects and fungi 2) limited sunlight and paucity of nutrients
3) water limits and fire 4) None of the above

YTFITE el SR PIURTE] ATHUET S faafed il oy carear aRvrH A g89RT Sgdihdesl Seel
L. AT Y2 S cReh, IR ST aXedl HigliaR Ioleled] I, SITSIaR dg febal Qfihrscere
HUTT TGUITIT 3 Il SEBAT. § au ... I 3T

q) giooff o= 2) PRSI IS I

3) WRECH S 8) ST Teig

“Leaf litter decomposes faster than in any other biome and as a result te soil surface is often
almost bare. Apart from trees, the vegetation is largely composed of plant forms that reach up
into the canopy vicariously, by climbing the trees or growing as epiphytes, rooted on the upper
branches of trees.” This is the most likely description of ...............

1) Coniferous forest 2) Dry deciduous forest

3) Mangrove forest 4) Tropical rain forest

ST TRl faRgRelelt olgM 1S SRAciel TTadies ST 3R, aRig aefiel fORgd AT 1S affeosdl
ARG, 319 &ficiel afdhRY I Ueh fehdT 31ftieh fihaT gl Tehigr FRIf3d el ST, 3 Tcdh
PO 3T ?

31) ST URERUTRY aTeselt 9 a9 S ) 3 &) qorveft umoft
3) T ued 3) T TOTeH

IR SR :

9) 3H, 9, P, S ) 3, g, P, g hh 3) N T4 Q) d, b, S hh
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The vegetation of savannah consists of grassland with scattered small trees, but extensive areas
have no trees. The forest development in such areas is generally kept in check by one or more or
a combination of some conditions. Which of the following are such conditions?

a) Burrowing animals and termites b) Fire

¢) Grazing herbivores d) Seasonal rainfall ~ e) Soil properties
Answer options :

1)a,b,c,d 2)a,b,c,eonly 3) All the above 4)b, c,d only

fRITaTeh! ugd Wreflerudh! a1 MERATS uRig 31me:

q) &P SMOT 37ef LB WA ATIRATRID QA T

Q) SR GUTRT Sl aTqRe- SR faery

3) AE WA g e M

8) PR ATTTa YT G YSHETER Uad SHord! A13au

The “Miyawaki method” is well known for the:

1) Promotion of commercial farming in arid and semi-arid areas
2) Development of gardens using genetically modified flora

3) Creation of mini forests in urban areas

4) Harvesting wind energy on coastal areas and on sea surfaces

2008 T GATHIM FANDBIAT g A& AT et Hl WRPSH I &t fhIRI Ui AsEa- AUt go1

/GRE FA1G TG B P AhAd. GRS & HFE! 291 TV P BRI PRI ?

) WRECIE Geleel &l e axdiT, AL JAleh I8 el fehal STex Ug, Ahd ATId A9 ISSHTGR
fawh axd

R) WREE & & PIUATE il SMIAHTR SABHT NI SFelel 3T MY Aiwer Sl Rt

3) R HATS I BANE S IR 3T TG fobal JIAT SIRIT IPE FaRT UL HH

hdTd.

8) WRYGCH! SIS, T Hob AIGAT YHIUINT 3RAeIT dIges A0 AR IHesT Ued Tald.

The 2004 Tsunami made people, realize that mangroves can serve as a reliable safety hedge against

coastal calamities. How do mangroves function as a safety hedge ?

1) The mangrove swamps separate human settlements from the seal a wide zone in which people
neither live nor venture out

2) The mangroves provide both food and medicines which people are in need of after any natural
disaster

3) The mangrove trees are tall with dense canopies and serve as an excellent shelter during a
cyclone or tsunami

4) The mangrove trees do not get uprooted by storms and tides because of their extensive roots

WAL Ui SHTeT PG TIhed R, SWBCIH Y JTUTSTe! ST Jeiid rd! dae aie aid
Y. @ PR .o g 3R

q) IS/ RIS ST e dINep deaid! HaRadl

Q) TSR ST TSl TARRT hHT 13RI,

3) N BRI Ul ERge, aTedTd

8) faceft oot X B gdies SR SmehAoT aRard
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If a tropical rain forest is removed, it does not regenerate quickly as compared to a tropical
deciduous forest. This is because ............

1) the soil of rain forest is deficient in nutrients

2) propagules of the trees in a rain forest have poor viability

3) the rain forest species are slow-growing

4) exotic species invade the fertile soil of rain forest

SATCHAT P BITATAT M Wletleldeh! PIoTaT TREESET T T 31 ?

9) HERITR, Td, Tadi Uedl, TREE R) WRYC!, AEMTR, Tadies Uedl, dad

3) WREC, T UQd, Tad, FERIR 8) HERITR, WREC!, deld, T Hael

Which one of the following is the correct sequence of ecosystems in the order of decreasing
productivity?

1) Oceans, lakes, grasslands, mangroves 2) Mangroves, oceans, grasslands, lakes

3) Mangroves, grasslands, lakes, oceans 4) Oceans, mangroves, lakes, grasslands

28 Relcs SHfIRRT 31Tth HiFT 3Ts TeIRT 39 droxd (TRAFFIC / aifthes) = Siguld, @refletdd! dior

e /7 SRR 318/ 3T ?

37) ¢fthes § Agh IT§ FATaRUr BRishH (UNEP) Siaiia Ud &30 3.

) I IR SMOT TIUgTea] YRS AT HaLTeT UiehT BI0TR ATal ITdT Wil Ul g ofthehd
2 AR

it SR
9) (37) Heh R) (¥) wch
3) (31) iy (9) el 8) (3F) fbar () SErEr gt

Which of the following statement is/are correct in respect of Trade Related Analysis of Fauna

and Flora in Commerce (TRAFFIC) ?

a) TRAFFIC is a bureau under United Nations Environment Programme (UNEP).

b) The mission of TRAFFIC is to ensure that trade in wild plants and animals is not a threat to the
conservation of nature.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

R) GRS YT oIl [ATeEE, IR

Y3R 37 Hea AT Gehied] Tl HH! RacaTeee fadl &t dall ST 378, Bl 2

31) I TchT Faid HioT IUCH IRTiT T e FRafdier Pl Ry ager 3med.

9) ofF, refera, der MMl et fdReh g Ted PR <A 3ewd ATald.

&) fafdy TR Seiag e awgean MRt gffies gedia Urq e e AT AT Tcanid! AFf
ared 3.

Tt S :

9) (31) omfdr (3) Wk R) (3N) 3T () 3) (3) smfor () 8) (1), (@) 3mfvr ()
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Recently, there has been a concern over the short supply of a group of elements called ‘rare earth

metals’. Why?

a) China, which is the largest producer of these elements, has imposed some restrictions on
their export.

b) Other than China, Australia, Canada and Chile, these elements are not found in any country.

¢) Rare earth metals are essential for the manufacture of various kinds of electronic items and
there is a growing demand for these elements.

Answer Options :
1) (a) and (b) only 2)(a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

3) dTEqeh Ao wicH

HRA AT G TR R, STetaTeqeh—de MU TR Wietlefueh! DHATGR PHHT et SIS bl ?
37) HelferT 3MOT SSMRRAT STl AclTel ATIGYHT Elet v,

) Reamd smRaTd My SigH WG Jreameie b1 SR ST Ueh -1dIe hierdl @Igu,

i SR :

9) (37) Heh R) (¥) wch

3) (an) 3mfr () < 8) (1) fobar (%) SI=iet el

Between India and East Asia, the navigation-time and distance can be greatly reduced by which of
the following ?

a) Deepening the Malacca straits between Malaysia and Indonesia.

b) Opening a new canal across the Kra isthmus between the Gulf of Siam and Andaman Sea.

Answer Options :
1) (a)only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

TERTY IS ARRY HaT GIusten ARt - 9gRIY, WIRA S7for SR e / 39
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RGN Hifdd, AMIforha 3nfie Y

(£) YRA SUESTEI Ichicll, FAMH, USTIHH

q) URHI IUESTciiel SEhici MO IR

Jre! fRHTeRITd TaRT Sl degl WTetierdhl PIuTdT feHTerd 81 TR0 thies Udd SRIATET GRTaT FgurdT IS ?
) @reT e ¥) TR 9t U—e

@) IR g AT g) g SARTRS re—TeTgfeT Bl

Tt S :

q) (31) Smfor (&) weh ) (8N), (3) M (B) 3) (30), (P) &M () ) (31), (3), (F), (3)
Which of the following can be said to be the evidences for Himalayas being young fold mountains,
when you travel in Himalayas ?

a) Deep gorges b) U-turn river courses

c¢) Parallel mountain ranges d) Steep gradients causing land-sliding
Answer Options :

1) (a) and (b) only 2) (a), (b) and (c) 3) (a), (c) and (d) 4) (a), (b), (¢), (d)

Q) MRATI g™ 9 Ui afdmexr

GTerT AT HSMId auHR 9 dTIHIFRIE QAT BaTH 3RAd. AT TQTITS! Wietierdert iurd fie watd
A 3R 2

q) T 3T BTG Q) g 3for T 3) W 3T T ¥) g 3T By

The lower Gangetic plain is characterised by humid climate with high temperature throughout the

year. Which one among the following pairs of crops is most suitable for this region ?
1) Paddy and cotton ~ 2) Wheat and Jute 3) Paddy and Jute 4) Wheat and cotton

TefieTdeh! PIVIT AT SifhgaedT HIGAT ST ANEeRITS! Faid AR gaMRRI 37T Bl A6
FHI G SR IHTGH PROMT 3lfcbead! eas Hod d FRIRIE IehT [IBRid 2rss aepdrd ?
9) MY YT Q) IV T 3) &g T ¥) IR T

Among the following States, which one has the most suitable climatic conditions for the cultivation
of alarge variety of orchids with minimum cost of prodution, and can develop an export oriented

industry in this field ?

1) Andhra Pradesh 2) Arunachal Pradesh
3) Madhya Pradesh 4) Uttar Pradesh
YRaTcleT TepT YA @ieflel A aimeaT:

37) AT IRBEIA T LB T A - 3.

) AT 7 HIT PIgH SHIG Pl

%) el Ut dnas 3 Ui Jorrd T E 3.

RieT T I Welleueh! HIUT ST 37T ?

9) IY T R) ORI 3) FHCH 8) AT

TERTY ST ARRY HaT GIuRten ARl : 9gRIY, ¥R Sfor SR fie / 33



3)

8)

4)

)

1)

Q)

For Private Circulation Only

A state in India has the following characteristics :

a) Its northern part is arid and semi-arid.

b) Its centra] part produces cotton.

c¢) Cultivation of cash crops is predominant over food crops.

Which one of the following states has all of the above characteristics ?

1) Andhra Pradesh 2) Gujarat 3) Karnataka 4) Tamil Nadu

NRAT e Tl fafdre ot @refler dfirsd omed -

37) g T SFETATR AT Mg o TR ISRAFHYT S,

¥) T ¢o% Y&l ST & SARGTed! 3.

®) IT AT 9% Y& STRT g AREI0T TRIST &5 Acad TR,

RGTAIAUDT PIUT AT NI d AfIrs 31T ?

q) U T2 R) A 3) fedraet uoer 8) IS
A particular State in India has the following characteristics :

a) Itis located on the same latitude which passes through northern Rajasthan.

b) It has over 80% of its area under forest cover.

¢) Over 12% of forest cover constitutes Protected Area Network in this State.
Which one among the following States has all the above characteristics?

1) Arunachal Pradesh  2) Assam 3) Himachal Pradesh  4) Uttarakhand
3) YRAKie Yoi=aHH=
Glefieridh! PIvRr e sRIsR 3R,/ 37ed ?

3T) WAl Pleaeft SR ARATIRIT IR HRATHIT T Bll.

) WRARAT STPeId HSF AT d1fiies UTaRiT T Yoiehg Ufeamehe HHI 8.

it S :

9) (37) %h ) (d) Bh

3) Qe (3) ey (9) 8) Qe (31) febar (9) el

Which of the statements given below is/are correct?

a) The duration of the monsoon decreases from southern India to northern India.

b) The amount of annual rainfall in the northern plains of India decreases from east to west.

Answer Options :
1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

AR FFLTET QTS e dRaMT SIaimed et weft ‘iz sfie Siaiet (I0D) a1 SgRd el SiTdl,

RGTAIAUDT PO fIem SRS 31/ 31 ?

3) IUThicatly ufeaH fadt AERIR SMfOr IWEhCaefi Yd uerid HERNR AredTcilel TSI ISHRITAT
AT ®Rep™ 10D &eAT gaffdeft S,

) AR el R JHETER STISTS! T UHIfad e e,

qgift S
9) (31) Heh R) (¥) wch
3) (31) iy (9) el 8) (1) fobar (3) SErEr At

HERTE IISTART ARRY HaT qauRia At : AgRIY, WIRd 3110 ST e / 33
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With reference to ‘Indian Ocean Dipole (IOD)’ sometimes mentioned in the news while forecasting

Indian monsoon, which of the following statements is/are correct?

a) 10D phenomenon is characterised by a difference in sea surface temperature between tropical
Western Indian Ocean and tropical Eastern Pacific Ocean.

b) An IOD phenomenon can influence an El Nino’s impact on the monsoon.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

(9) T 4ifcies UeeT — fnTer, Udd, USR, didce &, frt

)

1)

Q)

2)

YRT, &<, 2T 3Tf0r Uebed

q) femTerg 3mfor $ar gdaRTm

Tefierdeh! PIoTd faer /7 SRISR 37Tg/ 37Ted ?

37) YRAIT AT Weh U ISUHEY TRl 3TTe.

¥) ufexm gc Beh UTT ST TRIRE 3R,

%) Yol dla Treh QM INITHE] TRAReTT 31T,

Tt SR :

q) (®) oh R) (81) 3Hfor (=5) 3) (3) snfor () 8) (31), (3) amfor ()
Which of the statements given below is/are correct ?

a) In India, the Himalayas are spread over five States only.

b) Western Ghats are spread over five States only.

c) Pulicat Lake is spread over two States only.

Answer Options :
1) (c) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)

Udd - fORER IFAIGHIT ETefierdeh! PIuT STie! /ST aRIaR SJesel! /T 31 /A ?

31) AT d_aT - Tedle fgHTerd

q) Far1 <t - g, feTerd

P) Aiaxp — Ry fFaer

gt SR :

q) (31) smfor (3) ?) () wh 3) (31) 3for () 8) (&) Th
Which of the pairs regarding Peak & Mountains given below is/are correctly matched ?
a) Namcha Barwa - Garhwal Himalaya

b) Nanda Devi — Kumaon Himalaya

c¢) Nokrek — Sikkim Himalaya

Answer Options :

1) (a) and (b) 2) (b) only 3) (a) and (¢) 4) (c) only

TERTY IS AR T gdoien Tl : HgRIg, YR 37for Simfoes i / 38
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ATl PIoreh/cam el /el sRIsR S[ebelt /T 3R /3N ?

37) A RRHIBR Rereg @ R faexd

§) dNed (Slihdh) TTd . SRST YIARITT

P) AR TET I . el feedd

gt SR :

q) (31) SMfor (3) Hh ) () AT () 3) (@) for () 8) (31), (3) amfor ()
Which of the pairs given below is/are correctly matched?

a) Nokrek Biosphere Reserve : Garo Hills

b) Logtak (Loktak) Lake : Barail Range

c) Namdapha National Park  : Dafla Hills

Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

?) USR, HeFI US9T 9 Irovdesis
el PIuKct /T S/ Siea aRIeR S[eelt /T 318/ 37ed ?

TpSAT )
31) derdt s PRFSA fpART
) R cheT PIBUT fpART
%) HEkd foed Hed URd
g) fUhR fees I R,
gl IR :

9) (31) 3mivr (9) deh Q) (31) 3y () 3) () 3y (s) 8) () 371 () Teh

Which of the pairs given below is/are correctly matched?

Hills Region
a) Cardamom Hills Coromandel Coast
b) Kaimur Hills Konkan Coast
¢) Mahadeo Hills Central India
d) Mikir Hills North-East India.
Answer Options :
1) (a)and (b) only 2) (a) and (c) only 3) (c) and (d) 4) (b) and (c) only
3) fHR YT, 92, UTurIs TSt

YRTIe QT fSeproft, Trat TGNt I g S UNfeed™, Terell 3R foqg gt <t wgrd uroft
fepeTaTea XYURIT et fheirfieR wmt dRep ST Ry Qe gral fhrameR 3. Siegr aroft &t gt
Al Gl dREed ATerdl A, ... I g 3T geAT UigRiet fiesd,

) HETR ?) Higfagum 3) TRIR ) RIS

At one of the places in India, if you stand on the seashore and watch the sea, you will find that the
sea water recedes from the shore line a few kilometres and comes back to the shore, twice a day,
and you can actually walk on the sea floor when the water recedes. This unique phenomenon is
seen at

1) Bhavnagar 2) Bheemunipatnam  3) Chandipur 4) Nagapattinam

TERIY ST ARRY HaT Gausten ARt - 9gRIY, WIRA S11for IR e / 3Y4
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TRATclleT UT0TIc FReTedT AeHid, Wieiierieh! hiort faen sRIaR 3fe/3imed 2

31) Q9T TT HiMferss & 31 ueerea Suficfiel 3R IrouieaT Jemd ToRiaHed 3ifdids digaet ol 31T

) HRA, TR VIS HRTT THuT HiMford &5 Sidceii v e HIc 3Tk,

Tt S :

q) (31) Beh ?) (¥) Bh

3) < (a1) amfr (9) 8) Qrerer (&) fobar () Tl

With reference to the wetlands of India, which of the statements given below is/are correct?

a) The country’s total geographical area under the category of wetlands is recorded more in Gujarat
as compared to other States.

b) In India, the total geographical area of coastal wetlands is larger than that of inland wetlands.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)
Tefler SiieaT foaRTd &
OIS T AT
31) g TS T Ry Smfr AdetsT /<adett T e
) haeied T IET ST SIRT 3IfOT Tees AT G
®) PG dAd it SMIfoT grsoTraT |
RIS DIV ST IRIER Jesetl /3772 2
q) (31) Hh R) (1) @mfor () Wb 3) (1), (@) 37y (®) ) (%) T (&) Feh
Which of the pair/s given below is/are correctly matched ?
Wetlands Confluence of rivers
a) Harike Wetlands Confluence of Beas and Satluj/Sutle;j
b) Keoladeo Ghana National Park Confluence of Banas and Chambal
¢) Kolleru Lake Confluence of Musi and Krishna
Answer Options :
1) (a)only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only

ETel! feeiean fadt STiedT RIS S[eedT 3Ted ?

qTelsS /b — AThIA

31) BRI decis — UoTH 9) U decle - fRaradt wea
) IR MR — BT ) ARYHPIET dAd — AT
IR SR :

9) Th U ST Q) Heh g ST 3) Weh o9 SisaT ¥) Id IR STedT
How many pairs given above are correctly matched ?
Wetland / Lake - Location

a) Hokera Wetland — Punjab b) Renuka Wetland — Himachal Pradesh
c¢) Rudrasagar Lake — Tripura d) Sasthamkotta Lake — Tamil Nadu
Answer Options :

1) Only one pair 2) Only two pairs 3) Only three pairs 4) All four pairs

HERTE IISTART ARRY HaT GauRia At : AgRIY, WIRd 3101 ST e / 3§
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¥) I, AR SMfOr Tehed
Ry ©if¥RR I fRUT 3R ...
q) TS R Qe R) oIEAT gdaT
3) fiafieer IwA 8) o1 WRITAT ITIRA
Siachen Glacier is situated to the
1) East of Aksai Chin 2) East of Leh
3) North of Gilgit 4) North of Nubra Valley
GTeTcTieh! DIV /T SIS /SISl SRISR Joelt /T 3T/ 3T ?
fewdt T
) R AT
¥) a7 famft SEICH
®) Aem ettt
3) Rpae= eEll
3) ¥ g
IR SR :

9) (1) offor (d) Bk R) (30), () 30 () 3) (31), () =AM () ¥) (3), (@), (B), (3)

Which of the pair/s given below is/are correctly matched ?

Glacier River
a) Bandarpunch Yamuna
b) Bara Shigri Chenab
¢) Milam Mandakini
d) Siachen Nubra
e) Zemu Manas

Answer Options :
1) (@)and(b)only  2)(a),(b)and(d) 3) (a), (c)and (d) 4) (), (b), (¢), (d)

gy T HoTTeticlien Wiefldl IR T ASHid, Tl diF e TepT Faredn Suer 3Ry, o 9T fe
e ey, wrefiettid, st P 7 o3 oft e Rigen R ?

9) foFTE Q) e 3) <t Q) HeToT

With reference to the Indus river system of the following four rivers, three of them pour into one
of them, which joins the Indus direct. Among the following, which one is such river that joins the
Indus direct?

1) Chenab 2) Jhelum 3)Ravi 4) Sutlej

ST IUTET /U WTeAieTieh! ioTet /37T ?

31) feam ) BT P) olfed

qift SR

q) (81) Hh R) (1) Smfor () Wb 3) (31), (9) M7 () ) (3) 3" (F) Feh
Which of the following is/are tributary/tributaries of Brahmaputra?

a) Dibang b) Kameng ¢) Lohit

Answer Options :

1) (a) only 2) (a) and (b) only 3) (a), (b) and (c) 4) (b) and (c) only

TERTY IS AR T gEoten Wt : FgRIg, YR Sfor ST et / 30
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WTefleTih! DIl T SRS USTT dTed ?
37) RIH 9) alifed ®) RN
Tt SR

9) (31) omfdr (3) ek ) (1) 3 () 3) () smfor () 8) (1), (@) 3mfvr ()
Which of the following river/s flows/flow through Arunachal Pradesh?

a) Barak b) Lohit ¢) Subansiri
Answer Options :
1) (a)and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

IR AT i Wiefierish! v e aRIsR 31e /37Ted ?

37) TR ST I FAGAIREE 318 Ug < RIshHeYT areq.

9) Sfd Ferar S Rispraed g S <t i =i Sual S

F) IRAT TS YR ST TTASIAT HHAR STeredT SUFRRIG dTed.

Tt S :

9) (31) omfdr (3) ek R) (3N) 3T () 3) (3) o 8) (1), () 3mfvr ()
Which of the following statement is/are correct with reference to river Teesta ?

a) The source of river Teesta is the same as that of Brahmaputra but it flows through Sikkim.

b) River Rangeet originates in Sikkim and it is a tributary of river Teesta.
c) River Teesta flows into Bay of Bengal on the border of India and Bangladesh.

Answer Options :

1) (a) and (b) only 2) (a) and (c) 3) (b) only 4) (a), (b) and (¢)
Gleflel Ferrar faaR @

37) STt ) AnTae %) Jeviar 3) IR

TIAIRT PIURIT eraT ST gd = gl ?

q) (&) ST (3) ®eh ) () for (8) 3) (&), (@) =for (8) 8) (31), (3), (3), (3)
Consider the following rivers:

a) Brahmani b) Nagavali ¢) Subarnarekha d) Vamsadhara

Which of the above rise from the Eastern Ghats?

1) (a) and (b) only 2) (b) and (d) 3) (a), (c) and (d) 4) (a), (b), (¢), (d)

GTeflethl DI T MRl SU=el 3Rd ?

31) dAYRT ) Sgradt CORCIIRSI] g) IR
qift S :

9) 31,4, P, S Q) 3, 4, b Bh 3) 31, & PBh 8) d, b, S Bh
Which of the following are tributaries of Godavari?

a) Vamsadhara b) Indravati ¢) Pranahita d) Pennar
Answer options :

1)a,b,c,d 2)a, b, c,only 3) b, c only 4)b,c,d

TERTY IS AR T gEoten Wt : FgRIg, YR o1 ST et / 3¢
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)  WTelleTi<hl PIvAT eI SSvAT B/ gldl BTd 3MTel ?

q) BIRY MM GGy Q) MR INT oM 3) HEFST I A ®) =Her Mfor aret
9) Recently, linking of which of the following rivers was undertaken?

1) Cauvery and Tungabhadra 2) Godavari and Krishna

3) Mahanadi and Sone 4) Narmada and Tapti

Qo) THET T4l UfFEHBS AR, TR TR gD HAIGAT GUbeURI Tl Yaeps aTgdNd. 172
a7) v i Ree &3 e,
) SR fie Sfor FegRT e 7ed arEd,

&) AL ARAIRET UB@HGs ST IR,

Tt IR :

9) (31) Heh Q) (1) anfor (&) ek 3) (3), (9) 3Mfor (B) ) (9) 3AM0r () Heh
10) The Narmada river flows to the west, while most other large peninsular rivers flow to the east.

Why?

a) It occupies a linear rift valley.

b) If flows between the Vindhyas and the Satpuras.
c¢) The land slopes to the west from Central India.
Answer Options :

1) (a) only 2) (a) and (b) only 3) (a), (b) and (c) 4) (b) and (c) only
99) WelcUeh! DIV /T SISt/ SSdT TSR SJedett /T 3T/ 3Med ?
ufig 3T T
) GRR TSN
¥) foroRRrmg GACK
%) gt AT
qift SR :

q) (31) Sfor (3) Hh ) (31), () MM (F) 3) (3F) ST (D) 8) () Hh
11) Consider the following pairs

Famous place River

a) Pandharpur Chandrabhaga

b) Tiruchirappalli Cauvery

c) Hampi Malaprabha

Answer Options :

1) (a)and (b) only 2) (a), (b) and (c) 3) (a) and (¢) 4) (b) only
9?)  SfEr AR MEPICT B Wieliertd! Piorr TE= FHfor et g ?

q) Pt R) R 3) ¥R %) TG
12) Gandikota canyon of South India was created by which one of the following rivers ?

1) Cauvery 2 Manjira 3) Pennar 4) Tungabhadra
93) ARG el a1, FamH, TR ST @I & o I A9 3T

9) TAfRRY Q) WREEHE & 3) IFRR AR ¥) @R Tl
13) Withreference to India, Didwana, Kuchaman, Sargol and Khatu are the names of ............

1) Glaciers 2) Mangrove areas 3) Ramsar sites 4) Saline lakes

TERIY ST ARRY HaT Gausten ARt : 9gRIy, WIRd S11for IR e / 39
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WA PR BE T R

q) PIEEHASA (ATBTY) Q) PIFH (3NY W)

3) AaTe (STREE) 8) X! (feraet o)
Which one of the following is an artificial lake?

1) Kodaikanal (Tamil Nadu) 2) Kolleru (Andhra Pradesh)
3) Nainital (Uttarakhand) 4) Renuka (Himachal Pradesh)

IR, SATR ST dRAaclt a7 1A SficeRgean SR fSamroft Frr arg emg ?

q) Jarcra PRI A3 ATUSA Q) IWhfestiy el St
3) R g7 Homet g) UugTE |10

What is common to the places known as Aliyar, Isapur and Kangsabati?

1) Recently discovered uranium deposits 2) Tropical rain forests

3) Underground cave systems 4) Water reservoirs

QTeft feetedr fahdt Siteam SRIsR Sesd T ?

STATIR - 15

31) TSN — JHTOT ¥) el IR - Femey
P) SR AR — YT 3) HuM - we
gl IR :

9) Teh Uh SIE! Q) Heh g ST 3) Teh T STeaT ¥) Id IR STedT

How many pairs given below are not correctly matched ?
Reservoirs - States

a) Ghataprabha —Telangana b) Gandhi Sagar— Madhya Pradesh

c¢) Indira Sagar — Andhra Pradesh d) Maithon — Chhattisgarh

Answer Options :

1) Only one pair 2) Only two pairs 3) Only three pairs 4) All four pairs

T HISIT FHIUIN a1 IGTa AT IR @Tefiertdhl BhIof 31T ?

31) it &= HHY B

q) ST TG

%) oI UTd! BHT I

gt SR :

9) (ar) amfor () & R) (31) 3T () 3) (3) smfor () 8) (31), (3) 3T ()
Which of the following is/are the possible consequence/s of heavy sand mining in riverbeds?
a) Decreased salinity in the river

b) Pollution of groundwater

c) Lowering of the water-table

Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

TERTY IS AR T gaoten Wt : HgRIg, YR Sfor ST et / go
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(¢) AHEEAT, YT, STHICH 0T 991, WiNifeleh ITSThRUT

q) WRATRN AT

GTell TG dheledl ST FEHT, AT TPUT AAHDIA] ThARIIT AGHI, Wletletded! AT Fedl
S DIV MR 2

31) BRNETS ) 9T UQA ®) HERTY g) enfser
R SR :
9) H-85-3F-9 Q) B-I-8-31 3) I-H-37-8 8) S—d—-Ph—37

CWith reference to the States mentioned below, in terms of percentage of forest cover to the
total area of State, which one of the following is the correct ascending order?

a) Chhattisgarh b) Madhya Pradesh ¢) Maharashtra d) Odisha

Answer Options :

I)c-d-a-b 2)c-b-d-a 3)b-c-a-d 4)yd-b-c-a
3) SAIHRIEIT ISR, AFRIBRT G IR e
3) YRl Snfeardt, SHT SMfor g1, v

TATADRT BIUTCT /T STeT/STeaT IRIeR Jeselt /T 38/ 3T ?

STHTT ST

&) e (R Rigm

q) el femreT TR

&%) SRAT By anfeen

SIS GIECEICY

IR SR :

q) (31) =AM (9) Bk Q) (3) 37N (PB) Wb 3) (F), (P) 301 () ) (31), (), (D), (3)

Which of the pairs given below is/are correctly matched?

Tribe State
a) Limboo (Limbu) Sikkim
b) Karbi Himachal Pradesh
¢) Dongaria Kondh Odisha
d) Bonda Tamil Nadu

Answer Options :
1) (a) and (b) only 2) (a) and (c) only 3) (b), (c) and (d) 4) (a), (b), (¢), (d)

"HRATCHS TITAT FHGRIT =T HEHId WTetierdel PIurd e sRIeR 3118 /3Me, Wietldl [T faaR &
37) I U JTRRES AT Tga.

q) J U QoeT TeATT ST AATe AR e,

&) T IR ST Sofid Sdel ST,
gt IR :
q) (31) Hh R) () 3T () Bh 3) (b) Beh 8) (31), () 3y ()

HERTY ST ARRY HaT GIuRie ARt - 9gRIE, ¥R S1for STRIfe 9Fhe / 89
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Which of the following statement is/are correct with reference to ‘Changpa community of India,
consider the following statements :

a) They live mainly in State of Uttarakhand.

b) They rear the Pashmina goats that yield a fine wool.

c) They are kept in the category of Scheduled Tribes.

Answer Options :

a) (a) only b) (b) and (c) only ¢) (c) only d) (a), (b) and (c)
) AT YR HILTe 3. ) ITR-UfTaH YRl M IRoRT.

3) cfémr yRdarder omefi TRE . 8) e YRATd fugr ST IR

A community of people called Manganiyars is well-known for their ..........

1) martial arts in North-East India. 2) musical tradition in North-West India.
3) classical vocal music in South India. 4) Pietra dura tradition in Central India.

ReTeier o SRR anfar el (PVTGs) = Sevid, @ieflerihl v R/~ sRIeR a1/
3R ?

31) PVTGs 9¢ I3 M0 UehT hgMRid U<2Td JTgdd.

o) RR fhar geuRt alexiva g PVTG R ffeaa axugrandt euiidt wh .

&) QT ST Afehadur seRyad Y PVTG sz

§) Béba 30T el X3 sHIdT PVTG =1 I6id GHMEST 318,

gt SR :

9) (1) Mfor (3) ek R) (3F), (F) ST (D) 3) (31), (B) afT (8)  8) (3N), (@), (&), (3)
Which of the following statements is/are correct regarding Particularly Vulnerable Tribal Groups
(PVTGsS) in India:

a) PVTGs reside in 18 States and one Union Territory.

b) A stagnant or declining population is one of the criteria for determining PVTG status.

c¢) There are 95 PVTGs officially notified in the country so far.

d) Irular and Konda Reddi tribes are included in the list of PVTGs.

Answer Options :

1) (@and(b)only  2)(a), (b) and (d) 3) (a), (c) and (d) 4) (), (b), (¢), (d)

3Tetiehs RATeIGTih! PIVIITAT SIS HIST SSif <UgTd AT ?

q) aAfear R) Piepoft 3) AN g) STRAT
Which one of the following was given classical language status recently?
1) Odia 2) Konkani 3) Bhojpuri 4) Assamese
¥) HRETT SO e
HRATNE AT @leleueh! DIV SISl Yadbsial MU Fafa Ui@Hdmsle Iod Gefad ?
q) I 37T IR Q) ST TR MO IR
3) ST AT ORI ) SroUTl Qe SATMOT ToRId
Which of the following pairs of States of India indicates the easternmost and Westernmost State?
1) Assam and Rajasthan 2) Arunachal Pradesh and Rajasthan
3) Assam and Gujarat 4) Arunachal Pradesh and Gujarat

TERTY IS AR T gaoten Wl : FgRIg, YR o1 ST et / 43
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ETefierdeh! Pl HiMfeThgea I R Hald S/ 31g ?

) A ?) diffan 3) S DEiE
Which of the following is geographically closest to Great Nicobar?
1) Sumatra 2) Borneo 3)Java 4) Sri Lanka

(%) YR : TN, TR, WIS 3MfOr SooAt AT

YR e, IETRY
qa1 9 dtds, Wetlens
Ryt e ST =T
YRAT e gA¥AIit
ST A, AR
q) YRAIdI 9, IRER
s i WTefietd PRt dfreT amg ?

9) Tt fUp nfor 3t fids et omEs

Q) WepTa daTd S fdar a1 et amTae

3) SR SMY 31T R Thid ards

8) IR PR AT

Which of the following is the chief characteristic of ‘mixed farming?
1) Cultivation of both cash crops and food crops

2) Cultivation of two or more crops in the same field

3) Rearing of animals and cultivation of crops together

4) None of the above

AR Scficfier aRfRe Senid, Hae ot a1 Haet-el Hgw 3TR. WTetiefud! PIord HaeH
3fei A7

37) AFIheR Tgd! clooul

9) fpaM AN HROr

P) ARderAT ) Nds creu

) HITET USHET SHuarTe! fdid J1aQy aroRor

3) Sradefi Infor Vg i e /Uieh NI 3facid ol

IR SR :

9) 37, ¥, B, SIMUTg Q) 37,9, 83T s )T, BFIAMSHH ) d, S

HERTY IISTART ARRY HaT GauRia At : AgRIY, WIRd 3701 ST e / 83
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With reference to the circumstances in Indian agriculture, the concept of “Conservation
Agriculture” assumes significance” Which of the following fall under the Conservation
Agriculture?

a) Avoiding the monoculture practices

b) Adopting minimum tillage

¢) Avoiding the cultivation of plantation crops

d) Using crop residues to cover soil surface

e) Adopting spatial and temporal crop sequencing/crop rotations

Answer options :

1)a,b,c,dande 2)a,b,d and e only 3)b,cand d only 4)b,dande

THipeeR il 8 URURE AT QiU diesl heft 3fe ?

37) TR WHIHT Tohdleh Ugeia ORIgT d, UG, URUTRG IR Qcmed Uahdieh Yl STR
EEICITA R RRIE

) URUTRD AP Qi ST &RAT dTg 2Teh IRg THidhedR e Jfeft aeT g I el

&) URUTRG IR 2l 3Tf—gsh QeI AEST 0 Mg W 312 TN FHIpeeR el go I

AT,

) TR e AfceaT aToR QU HedrdT 31e, U TRUIRSD IRTRIFD SAHed o a0l a9adH
AT,

Tt S :

9) (31) 3l () wh ) (31), (3) oMM (3)  3) () F 8) () 3T () Heh

How is permaculture farming different from conventional chemical farming?

a) Permaculture farming discourages monocultural practices but in conventional chemical
farming, monoculture practices are pre-dominant.

b) Conventional chemical farming can cause increase in soil salinity but the occurrence of such
phenomenon is not observed in permaculture farming.

c) Conventional chemical farming is easily possible in semi-arid regions but permaculture farming
1s not so easily possible in such regions.

d) Practice of mulching is very important in permaculture farming but not necessarily so in
conventional chemical farmin

Answer Options :
1) (a) and (c) only 2)(a), (b) and (d) 3) (d) only 4) (b) and (c) only

FAHM-TTE AT HRATAT IRl HeHid, Wielieide! PIur e /= sRIeR 37Te/ 3ired ?

37) ARANA ‘FARMHC-FAIC fegelol’ Udhed 81 SRS HANY PRIk, gaM™ daal, P 3T 3/
grem (CCAFES) =1 ~1q<q|<9|cf|“|o1 TRl T T 3TTR.

) BT TR 3feled] SARTERT B8t Heed (CGIAR) SRl AgR e ARiGeRaTet
CCAFS T Tdey IT&fda ST,

®) YR FHieiRe JfeTard! iawRE dies Fames dwr (ICRISAT) & CGIAR =T §enes

gl IR :

q) (1) 3for (3) b 2) (31) 3T () 3) (@) afor () 8) (31), (9) 3y (@)

TERTY IS AR T gaoien Tl : HgRIg, YR 37for Simfores it / gy
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In the context of India’s preparation for Climate-Smart Agriculture, consider the following

statements:

a) The ‘Climate-Smart Village’ approach in India is a part of a project led by the Climate Change,
Agriculture and Food Security (CCAFS), an international research programme.

b) The project of CCAFS is carried out under Consultative Group on International Agricultural
Research (CGIAR) headquartered in France.

¢) The International Crops Research Institute for the Semi Arid Tropics (ICRISAT) in India is one
of the CGIAR’’s research centres.

Answer Options :

1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

JRARET A BT SUINT BT ?

37) IRAT AL T HEIHrET R U JRIRRET aTHR hell SIS ST,

§) SIgT IAER el AIEIHE] W 3T, JegT o Ao - Thiaa Jewstiarea e UicTg <.

&) Sicgl TRATER g dTedl HIETHTET HHT SRId!, Tegl o aTeedT HTEMTeT SR hies dToft feahdy Sauard
qEH PR

RITUDT DU AU SRR 3Med/3Med ?

9) Wheh 37 3MUT § ) Bh § 3) 37 30T P Heh g) o, § 37 &

What is the use of biochar in farming ?

a) Biochar can be used as a part of the growing medium in vertical farming.

b) When biochar is a part of the growing medium, it promotes the growth of nitrogen-fixing
microorganisms.

c) When biochar is a part of the growing medium, it enables the growing medium to retain water
for longer time.

Which of the statements given above is/are correct 7
1) aand b only 2) b only 3)aand c only 4)a,bandc

SIciiHE S HANICT hRIs /RIS 1 AT ?

31) ARt fUeprar TS S5 S T 3fTe AT URUfY ol

) AT AU AuETen F BRdl, el ST HIdreaT St O dnEs PR IR IR
P) T Ple ST POl IR 3Te.

Tl Pls aae TR IR e

9) Wheh 37 3MUT § ) § 370 & heh 3) & Bh g) o, § 3 &

What is/are the advantage/advantages of zero tillage in agriculture?

a) Sowing of what is possible without burning the residue of previous crop.

b) Without the need for nursery of rice saplings, direct planting of paddy seeds in the wet soil is
possible.

c¢) Carbon sequestration in the soil is possible.

Select the correct answer using the code given below:
I)aandb only 2)band c only 3) c only 4)a,bandc

TERTY IS AR T gaoien Tl : HgRIg, YR 3Nfor Simfores st / 8y
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HRATAT T, WTefledh! DU Ugd TITaRuRe el TFe S ?

31) diep fafaefiensor ) 9T ofig o p) efgemiesar aR ©) It ot

GTellel PIS aqRe Ig IR g

9) Beh 3T, F M H Q) Fxh D 3) S Bh 3)3, 9, HaNr g

In the context of India, which of the following is/are considered to be practice(s) of eco-friendly
agriculture?

a) Crop diversification b) Legume intensification

¢) Tensiometer use d) Vertical farming

Select the correct answer using the code given below:

I)a,band conly 2) c only 3) d only 4)a,b,candd
?) 71 9 i, B

RNt I BIoArdt A ........... 43S ST JIR Sl e

9) Ul a=gar R) TheR Sarerd! Tesh

3) ¥8C I ofie g) e AT TGSt

The black cotton soil of India has been formed due to the weathering of .....

1) Brown forest soil 2) Fissure volcanic rock

3) Granite and schist 4) Shale and limestone

AR Slexse HIiamed Wieilofud! il e aRieR 3 ?

) I AHFI: ATl A SRA.

) T ARIGSH AT GICeT Hdetds THTOTG. ST,

®) O IO 3T ITR TSI Il [ApRia 3ired.

) Ut ST IoL AT HIKT TRTel JTedId.

gt SR :

q) (81) 3T () b ) (3N) I (8) ®eh 3) (3), (@) 37U (3) ) (&), (), (P), ()
Which of the following statements regarding laterite soils of India are correct?
a) They are generally red in colour.

b) They are rich in nitrogen and potash.

c¢) They are well-developed in Rajasthan and UP.

d) Tapioca and cashew nuts grow well on these soils.

Answer Options :
1) (a) and (b) only 2) (a) and (d) only 3) (b), (c) and (d) 4) (a), (b), (c), (d)

HRAME AT 4O & AT Wletietdeh! erelt Fefee 3mg ?

31) N Ang ) Siretars P) IUBICE T gamH

i SR :

q) (1) wh ?) () T 3) (31), (3) amfor () ) () o7fvr () ek
In India, the problem of soil erosion is associated with which of the following?

a) Terrace cultivation b) Deforestation c¢) Tropical climate

Answer Options :

1) (a)only 2) (b) only 3) (a), (b) and (c) 4) (b) and (c) only

TERTY IS AR T gdoien Tl : HgRIg, YR 3Nfor Sirfores st / ¢g



4)

4)

5)

)

6)

For Private Circulation Only

cerTdt g g Ble whi’ d IFE IR ...

31) RAraTeiiel anTas & fawaR avor.

q) ST e STURTER AAH=AHT SUATT JUTRT Shoiid FHI0T AISTOIATG! Sehi-T & ahul,

P) AqIHHIHE WA JMfTATR TURIOY.

gt SR :

q) (@) ST (P) Bh ) (31), () M (F) 3) () Th 8) (37) Sffor ()

The nation-wide ‘Soil Health Card Scheme’ aims at ........

a) Expanding the cultivable area under irrigation.

b) Enabling the banks to assess the quantum of loans to be granted to farmers on the basis of soil
quality.

c¢) Checking the overuse of fertilizers in farmlands.

Answer Options :
1) (b) and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)

eI eufd, @leflel faum faamr &

31) ST Jfey ggrif v SR sRiea™ fordt aroft ere Sauamel e SETeiRT BT Bk

§) AT FEHR TehIc PIUHEl FDT FoTad g,

&) SN Pl RIS Dral AauIiHId SRIBU 8 e,

RIS PO AU sRISR 3T/ 3Ted ?

9) (@) ST (&) HH - R) (31), (@) M (F) 3) () b 8) (1) 3T ()
With reference to agricultural soils, consider the following statements:

a) A high content of organic matter in soil drastically reduces its water holding capacity.

b) Soil does not play any role in the Sulphurcycle.

c) Irrigation over a period of time can contribute to the salinization of some agricultural lands.

Which of the statements given above is/are correct?
1) (b) and (c) only 2) (a), (b) and (c) 3) (c) only 4) (a) and (c)

CICICRERIERCEIN R

31) Pt AT AR ARG SaTSS IS

§) TR ARG IR HS.

%) Uleg I qfeRvNa ufifshaneiiel TG S s,

R DIV fTUM TR 318/ 3Aed ?

9) (@) wH ?) (@) Sfor () 3) (a1) amfor () 8) (31), (3) amfor ()
Consider the following statements:

a) Agricultural soils release nitrogen oxides into environment.

b) Cattle release ammonia into environment.

c¢) Poultry industry releases reactive nitrogen compounds into environment.

Which of the statements given above is/are correct?
1) (b)only 2) (b) and (¢) 3) (a) and (¢) 4) (a), (b) and (¢)

TERTY IS AR T gEoten wrft : FgRIg, YR Sfor ST et / 8
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diep AR SUTTeRfeaEfir 318, T BoR S ATARITS! BT RE 31Te. ITAT dIeRITd! fha= 90 Sa-
Tch et 3TIOT Yo T doo HTIHICR UTaRAT AT SR, eI fehad SavdRT e SFelel! gatel
Rt BIORY A7t fepream AMeSaTd) A 318, Wieiieldhl I dies 31 ?

9) DA R) TR 3) 4 8) Iel

“The crop is subtropical in nature. A hard frost is injurious to it. It requires at least 210 frost-free
days and 50 to 100 centimeters of rainfall for its growth. A light well-drained soil capable of
retaining moisture is ideally suited for the cultivation of the crop.” Which one of the following is
the crop?

1) Cotton 2) Jute 3) Sugarcane 4) Tea

GTeiloftidh! o el arufiaraRr= erisrdr Hafd ot 3mg ?

9) ¥ ) TWhed 3) il SRt ) el g
Among the following which one is the least water-efficient crop?
1) Sugarcane 2) Sunflower 3) Pearl millet 4) Red gram

Tefiedeh! IOl aRdT ¢ ‘Tl ST’ UTeba el AT STT0T ST SHIT GREST ST ?

q) TIRY, PIPI AT &R R) TeRY, PIYH AT R

3) PIGH, DIl 3T v 8) &R, PIhI AT g

Which one of the following groups of plants was domesticated in the ‘New World’ and introduced
into the ‘Old World’?

1) Tobacco, cocoa and rubber 2) Tobacco, cotton and rubber.

3) Cotton, coffee and sugarcane 4) Rubber, coffee and wheat

Tefiedehl PIUT ST, TR MM fRdedie Wel Feud aTdRel ST 2

31) gacdt 9) foxd & &) PR ATCIoN

qift S :

q) (3) 3T (@) weh ) (3N), () M (P) 3) () Heh 8) (31) 3mfor ()
Which of the following is/are used as pulse, fodder and green manure?

a) Cowpea b) Green gram c) Pigeon pea

Answer Options :

1) (b) and (c) only 2) (a), (b) and (¢) 3) (b) only 4) (a) and (c)
HRATd A Wletlel feprn R .

31) T ) foe ®) Hidl SToRt

I DIURT /IR UTaTeR e e /fids ammea 2
9) (31) 3y (9) Heh Q) (31) 3N () 3) (@) afor () 8) (31), () 3Afr ()

Consider the following crops of India :

a) Groundnut b) Sesamum ¢) Pearl millet
Which of the above is/are predomi-nantly rainfed crop /crops?
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

TERTY IS AR T gEoten Wt : FgRIg, YR o1 ST et / ¢
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GTefietidt Pvrdt WRIT U 3med ?
) PIIH q) Y ) digo ) g
gl IR :

q) (a1) T (3) ®weh ) (31), (F) 37T (F) 3) (31), (P) M (3) ) (31), (), (P), (3)
Which of the following are Kharif crops?

a) Cotton b) Groundnut ¢) Rice d) Wheat

Answer Options :

1) (a) and (b) only 2) (a), (b) and (c) 3) (), (c) and (d) 4) (a), (b), (c), (d)

TefieTdeh! PIUTh STIST SRISR et /Mg ?
i) SIS Guiig
31) foperR IRPT A€
) dara SIEN
P) PRESA AR
i SR :
9) (31) Sfor (3) BB ) (31), () M (F) 3) (F) b 8) DT ATl
Which of the pairs given below is/are correctly matched?
Region Well-known for the production of
a) Kinnaur Arecanut
b) Mewat Mango
c¢) Coromandel Soyabean
Answer Options :
1) (a)and (b) only 2) (a), (b) and (c) 3) (c) only 4) None

3nfieh eagRTaRIel HiFes Al aictid! HIoIrE A STURYT fhad SR Feft 31 2

37) AR /IRPT Ac ) el B) PIhl g) R TR

3) Y %) o T) go

gl IR :

9) 3, §, P, ST )4, S, s30T % 3) It T4 ¥) §, S, B aMor T

The Cabinet Committee on Economic Affairs has announced the Minimum Support Price for
which of the above?

a) Arecanut b) Barley c) Coffee d) Finger millet
¢) Groundnut f) Sesamum g) Turmeric

Answer options :

I)a,b,c,dand g 2)b,d, e and fonly 3) All the above 4)b,d,fand g

T UTa ST IR WY fipiear amasiear Aenid Wieflefid! Piur faam /= sRIsR 31/ 3Ted ?
31) YId ANgeRaTelleT & Haffdie 3.

¥) SR ANGERaTellel &5 delfaamie STRd 3.

%) PG ANES & IATIET SRR 3Te.

3) AT ANGSRATeA &5Td AT o¢ 8Id 37Te.

gl IR :

q) (1) 3T (B) Beh  2) (31), () 37 (D) 3) (31), (P) 307 (3) ) () ;MO () Beh

TERTY IS AR T gaoien Tl : HgRIg, YR 3Nfor Simfores st / ¥
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With reference to the cultivation of Kharif crops in India in the last five years, which of the
statements given below is/are correct?

a) Area under rice cultivation is the highest.

b) Area under the cultivation of jowar is more than that of oilseeds.

c) Area of cotton cultivation is more than that of sugarcane.

d) Area under sugarcane cultivation has steadily decreased.

Which of the statements given above are correct?

1) (a)and (c) only 2) (a), (b) and (¢) 3) (a), (c) and (d) 4) (a) and (d) only

3Me ?

q) HATC R) TSIl hsd 3) TEUR 8) @rerdel

Among the agricultural commodities imported by India, which one of the following accounts for
the highest imports in terms of value in the last five years?

1) Spices 2) Fresh fruits 3) Pulses 4) Vegetable oils

YRAT T ST SUTGHTAT AT, Wielleldeh! Pivrd fIer /= sRIsR 31T/ 3Med ?

37) PIT TWHITT NG WG ST el diep Fgud T A,

) TSURT SHGANT Yhedl gRH=ITT dlel Sigesur 3l 31

P) N 9 SIBTT WY STl IS dieel SRIAHT el eI Il gl 3.

Tt SR :

9) %h 31 Q) § 37for & heh 3) 9 %h Q) o, § {1 &

With reference to pulse production in India, which of the following statements are correct?

a) Black gram can be cultivated as both Kharif and rabi crop.

b) Green-gram alone accounts for nearly half of pulse production.

c¢) In the last three decades, while the production of kharif pulses has increased, the production
of rabi pulses has decreased.

Answer Options :

1) aonly 2) b and c only 3) b only 4)a,bandc

WefleTddh! P faem /3 RISk 31/ 37Med ?

37) AR (ARED &) & WY HETERT SIS 378

¥) fiae srs Sfémr snfdrmaed TN 3R

%) WRI, 95 K Hepef fdhveples aHIaST TR el S

3) 9Rd i anfor MRk o Fifa axar

3) Saged ATt MR enfor Riear e aTaR dett S 9Tehd)
Tt S :

9) P, 8, 3 Q) 3,9,P, 8,3 3)9, HIAMSHH ) d, ST
Which of the statements given below is/are correct ?

a) Moringa (drumstick tree) is a leguminous evergreen tree

b) Tamarind tree is endemic to South Asia

c¢) In India, most of the tamarind is collected as minor forest produce

d) India exports tamarind and seeds of moringa

e) Seeds of moringa and tamarind can be used in the production of biofuels

Answer Options :
I)c,d, e 2)a,b,c,d, e 3)b, cand d only 4)b, cand e only

TERTY ST ANRY A4 GeoRiarn At : FgRIy, R o7 SITfies et / Yo
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Wlefierh! et I & FMI: g1 ST 5 TgUT 3Neswdat! S ?

31) 3Ny T ¥) IRD %) feamaer e ) Bgar

oift SR

9) heh T I Q) Hh gF Y 3) h o9 I Q) TRE I
How many of the following are generally known as tea-producing States ?

a) Andhra Pradesh b) Kerala c) Himachal Pradesh  d) Tripura
Answer Options :

1) Only one State 2) Only two States 3) Only three States  4) All four States

dige @maerd 5t (System of Rice Intensification) '’ g T 3 3718 & SAML AT STHA
g 3Tele UTeie 3Mefl ol 3MfoT BRSOl IR TR e ST1l, IHR....

31) oot =T S

¥) 9 ST oH g

®) fIoram aTR S derr STdn

gt SR :

q) (1) nfor (3) R) () <mfir (@) weh  3) (1) M (@) Heh  8) (1), () 3or ()
“System of Rice Intensification” of cultivation, in which alternate wetting and drying of rice
fields is practised, results in :

a) Reduced seed requirement

b) Reduced methane production

c) Reduced electricity consumption

Select the correct answer using the code given below :

Answer Options :

1) (a) and (b) only 2) (b) and (c) only 3) (a) and (c) only 4) (a), (b) and (¢)

NRATA S AT AT ool MIeHld, WTeficideh! PIord e /= aRIsR 3R/ 31 ?

31) JaTieend iegl ‘a1 R Aeforst’ areded ST ST IR QT 40T et S <iegl SR Arfime
LU I 2.

q) Sicgl AcA! AT ANGS et STt Tegl 3ieh Dol SRIeIT Heedl o Uhel-9e8 HTHE JTaul
THAR! TTel A

%) AcHd! AT ARGS PRAMT WX Al IRFRI Igaeard, el Headl dord RiTd-as8 9
el ST,

) Incll FIUAIRIT TR Peled] HTloNdT dTHR Hod SHard! ARas Pl A,
Tt S :

9) Wheh 37 3MUT § Q) Bch B 3) q s ¥) Theh §, P MM

With reference to the current trends in the cultivation of sugarcane in India, which of the following

statements are correct?

a) A substantial saving in seed material is when ‘bud chip settlings’ are raised in a nursery and
transplanted in the main field.

b) When direct planting of setts is done, the germination percentage is better with single-budded
setts as compared to setts with many buds.

c) If bad weather conditions prevail when setts are directly planted, single-budded setts have
better survival as compared to large setts.

d) Sugarcane can be cultivated using settlings prepared from tissue culture.

Answer Options :
1)aandb only 2) c only 3)aandd 4)b, cand d only

HERTY IISTAFT ARRY HaT GauRie At : AgRIY, WIRd 310 ST e / 49
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"G I IupH FRU @] ST ¥ SIS RTEeIRep GepHrd PRI Hgwd 3R 2
37) URUTNG UG el AREaer=d e Ired fmuard! fha gua HT a1

¥) ImeY g RieAmen WRE BR YHTEHU0 axar Adl.

P) IJH AR / 3ifdes @ T TR ATg).

) URUNG Ugdred derid M SaRdieh HUgRT ad 31 3.

gt SR :

9) (31) Sfor (3) Hh Q) (31), (3) S (8)  3) (3), (@) M (3) ) (30), (@), () (8)
What are the significances of a practical approach to sugarcane production known as ‘Sustainable
Sugarcane Initiative?

a) Seed cost is very low in this compared to the conventional method of cultivation.

b) Drip irrigation can be practiced very effectively in this.

c¢) There is no application of chemical/inorganic fertilizers at all in this.

d) The scope for intercropping is more in this compared to the conventional method of cultivation.

Answer Options :
1) (@and (b)only  2)(a), (b) and (d) 3) (b), (¢) and (d) 4) (), (b), (¢), (d)

HRATT FoReX 19 g IRUR HISTdTel fohal YeRaTer Fgud arRel S, URq 3fefidrs AT ARaelel Had
3ot TR, AT HeHTd Wefleldch! PIuR e SRR 3R ?

q) fSRUITURIT PTeciel dal TRfSISTd weeha HfFdHE ardRel ST,

R) I SRR IR hetel & 2t 719 PIQUITITST aTaRel STl

3) I IR U] e SiCEReMISad TUTEF SR

¥) & 39 oIl SRS | 3T,

In India, cluster bean (Guar) is traditionally used as a vegetable or animal feed, but recently the
cultivation of this has assumed significance. Which one of the following statements is correct in
this context?

1) The oil extracted from seeds is used in the manufacture of biodegradable plastics.

2) The gum made from its seeds is used in the extraction of shale gas.

3) The leaf extract of this plant has the properties of antihistamines.

4) It is source of high quality biodiesel.

'gRfeE BR =gfoera RIagRer o SciRie fiele UM’ <1 HeHId, @letiefddh! I UM sRIsR

318 / AT ?

31) I IUPHTY Ife® JUTRT IHTGH ST PIEUHIRT TSI TSI I, 0T Jedaed o, ThIferd
UEdH, FoReR SRPMRIE UGRId aRUl T 3.

g) IT AT RIS, dg, HHEid 3Mfor snfeard) Ade=amar AeT dTeT 3R,

P) IT AT T HearaT S BN ARG fUhiar Aqdaidl sToR! aRdeidhs deuaRT MicdTed
RO SO AT IS deard Hgwqul Mids fohe 3for gem R Suawul Jihd <o,

R SR :

q) (31) weh R) (1) el (9) ®eh  3) (&), (9) 3or (B) ) (9) 3T () Beh

TERTY IS AR T gaoten Wt : FgRTg, YR Sfor ST et / 4R
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With reference to ‘Initiative for Nutritional Security through Intensive Millets Promotion’, which

of the following statements is/are correct?

a) This initiative aims to demonstrate the improved production and post-harvest technologies,
and to demonstrate value addition techniques, in an integrated manner, with cluster approach.

b) Poor, small, marginal and tribal farmers have larger stake in this scheme.

¢) An important objective of the scheme is to encourage farmers of commercial crops to shift to
millet cultivation by offering them free kits of critical inputs of nutrients and micro-irrigation
equipment.

Answer Options :

1) (a) only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only

ETefierdeh! P ‘1S fegeror Heheutear I Sfefr Sod avi avd ?

q) TR T AT SATOr ATIRUIRT TIATIR RUT STOT SARTDZ fSRATUN TR PRUIRT URIGT Grvl

Q) TP SoieR o0 Iarer Tfdrerr ugrTet Jnfdr AR AT At 3MfdT IRasum=aT fhachid
SR SIGR 410l Juetey] e QUIRATST HEHRTT et Blof

3) TG foRImor SRSt Sret M fRifSEd awor

8) ATl JESTHIHT TBEUl ST T fSRIT0r =T FATIH PRUIRATS! el ST fRIgRaaT or

Which one of the following best describes the main objective of ‘Seed Village Concept?

1) Encouraging the farmers to use their own farm seeds and discouraging them to buy the seeds
from others

2) Involving the farmers for training in quality seed production and thereby to make available
quality seeds to others at appropriate time and affordable cost

3) Earmarking some villages exclusively for the production of certified seeds

4) Identifying the entrepreneurs in village and providing them technology and finance to set up
seed companies

"o ot e, Wielierieh! ehiurt e /A SRISR 3R /3R ?

37) UM deT $TE ovd MY SRETS 37T,

q) foufees T IRIWRH FaU=aT Hral SRS I el &1 e AleT 3.

®) U JATET IR TRIfSSA TIR PRUIRITS! el STy el

gt SR :

9) (1) ST (F) Hch ) (81) AT () 3) (@) snfor () 8) (31), (3) amfor ()
With reference to ‘palm oil’, which of the following statements is/are correct?

a) The palm oil tree is native to Southeast Asia.

b) The palm oil is a raw material for some industries producing lipstick and perfumes.

¢) The palm oil can be used to produce biodiesel.

Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

HERTE IISTART ARRY HaT GauRia At : AgRIY, WIRd 310 ST e / 43
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3) Rrem snfor SierduRu
en Rigeren denid, Wiefletd! Piur /df e /= ReR 3R/ ?
o) T /qSgRrt g @t e .
9) PRAE ATHE R & WpHa AL 3.
&) QIHAT PIE AT YoTel Tdo! HHI BT Tfiee |retdm Il
wafft SR :
q) (ar) smfor () weh ) (31) ST () 3) (3) smfor () 8) (31), (3) 3T ()
With reference to micro-irrigation, which of the following statements is/are correct?
a) Fertilizer/nutrient loss can be reduced.
b) It is the only means of irrigation in dry land farming.
¢) In some areas of farming, receding of ground water table can be checked.

Answer Options :
1) (a)and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

39 R ggdiaT Wieflelid! PIvaT |hRIST/HRIST 318 ?

31) T PHHT FxOT

) ST RaT FHH ol

&) AT gg AT BROT

Tafft W :

q) (1) S () Hh Q) () ST () 3) (@) Sr () 8) (31), (&) snfor ()
Which of the following is/are the advantage /advantages of practising drip irrigation?

a) Reduction in weed

b) Reduction in soil salinity

¢) Reduction in soil erosion

Answer Options :
1) (a) and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)

AN BT P HRIS 31 ?

31) Rierean urvaTet &RaT FRIFT axur 99T 37T

) i HIRThe M7 SR Fd HIThicd WA PRIEH aiuR I 37Te.

P) TR GYD deaid] STl dTedul I 3R,

3) IR UG gehidl el gc 9ay IR,

Tt S :

9) Beh 3T, T MM B ) Bxh T, FIMOT S 3) 31, B AMN S Heh Q) d, P 0T T Beh
What are the advantages of fertigation in agriculture?

a) Controlling the alkalinity of irrigation water is possible.

b) Efficient application of Rock Phosphate and all other phosphatic fertilizers is possible.
c¢) Increased availability of nutrients to plants is possible.

d) Reduction in the leaching of chemical nutrients is possible.

Answer Options :

1)a,band conly 2)a,bandd only 3)a,cand d only 4)b, cand d only

TERTY IS AR T gaoien Tl : HgRIg, YR 37for Simfores spiet / 4g
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TefieTueh! PIURT fIe /= aRIsR 31T/ 3Ted ?

31) el oTet WRIor (CGWA) gR WRdTclier 36% Rreg arfrenfyc fihar 7k wgum anffget amedT.

§) CGWA I FAT9HT GITaRUT (FREI07) HRIEiT PRoATd 3TTel.

) S oidt RreRaTeliel &5 YRA Faid SR 31T,

gt SR :

9) %eh 31 ) § 3701 & heh 3) 9§ %Beh ¥) 3F 0T & Fch

Which of the statements given below is/are correct ?

a) 36% of India’s districts are classified as “overexploited” or “critical” by the Central Ground
Water Authority (CGWA).

b) CGWA was formed under Environment (Protection) Act.

c¢) India has the largest area under groundwater irrigation in the world.

Answer Options :

1) aonly 2)band c only 3) b only 4)aand c only

TeficTueh! PIvRT fe /= aRIsR 31Tg/3MTed ?

37) TR AP Dol FgRT STIRATS! 9% —R9 SR YT RFa T PHRIsHH o PRuITd 3T,

q) gt 9TR PRIGHTT fAPRIRIS! s TRAT SeeeuHe TR 9]98—9Y AL = PRUITd 37T,

Tt S :

9) (37) Bh ) (d) Bh

3) (31) Mfor (9) i 8) (ar) fbar () et T

Which of the statements given below is/are correct ?

a) The Accelerated Irrigation Benefits Programme was launched during 1996-97 to provide loan
assistance to poor farmers.

b) The Command Area Development Programme was launched in 1974-75 for the development
of water-use efficiency.

Answer Options :
1) (a)only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

ST Areiedr R avamd sredives grse &R STfor @feet A JIfded™T &iawur gid. SHTRIch
SRR eia~uT R g gidrd ?

q) e Uieh IS HIGHT JHIUNT d1& gld Q) il HepReAT Jod AMges Urfl feRud Tel

3) YoTeT UTde! ared 8) e SAfIdiel gad! ST UIogT ARl

Salinization occurs when the irrigation water accumulated in the soil evaporates, leaving behind
salts and minerals. What are the effects of salinization on the irrigated land?

1) It greatly increases the crop production 2) It makes some soils impermeable

3) It raises the water table 4) It fills the air spaces in the soil with water

"TpIfEh T fIPRT BrishH’ LTI B hRIS 3ed ?

37) HIcl aTg SR ) ST SRATE T gt et Seo,
%) UIadTd YToft AreauT ST Yotel TR GIERGT §) Al Rt grvedTeH.

gl IR :

q) (31) 3o (9) b R) (31), (9) 3o (d) 3) (), (P) 307 (8) %) (30), (9), (P) ()

TERTY ST AR WA gdoien Al : HgRIy, YR 37for Simfores st / 4y
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What are the benefits of implementing the ‘Integrated Watershed Development Programme™?
a) Prevention of soil runoff

b) Linking the country’s perennial rivers with seasonal rivers.

c¢) Rainwater harvesting and recharge of groundwater table

d) Regeneration of natural vegetation.

Answer Options :

1) (a)and (b)only  2)(a), (b) and (c) 3) (a), (c) and (d) 4) (a), (b), (¢), (d)

ez dfST & A FaLHr dgd Mg S ... Aed IR ST
9) gTedde FHR, SIRGR Il fShd STETEgR,

Q) FH FuIe HeM, TATRrAT Siaw, R ATIRT JERER

3) Bhacigd, TUITRAT I RN ST

Q) aRIAUDT Prargr el

Contour bunding is a method of soil conservation used in ............
1) desert margins, liable to strong wind action.

2) low flat plains, close to stream courses, liable to flooding

3) scrublands, liable to spread of weed growth

4) None of the above

el PIorclt /T Set/Sie aRIsR Seselt /T MM/ 37TRd ?

PRIHT /THd AT
37) STIYUIEYT & P FATCIET BRISHH
¥) drede fadrT BRI 3for a9 QTR0 TR
®) Jo SIS TERT UI0TeAte. faarT e yrfior fahrT HaATeR
Tt W :
9) (31) 3T (3) B ) (31), () AN (H) 3) (P) Beh 8) BT AT
Which of the pairs given below is/are correctly matched?
Programme/Project Ministry
a) Drought-prone Area Ministry of Agriculture
Programme
b) Desert Development Programme and Forests Ministry of Environment

c) National Watershed Development Project for Rainfed Areas Ministry of Rural Development
Answer Options :
1) (a)and (b) only 2) (a), (b) and (c) 3) (c) only 4) None

SR I Stet AT A Snfr quier Jdeet el TR T QTR BT IR BgeT ?

37) TEt WNTICleT UTugT=T TRSIET Ueh 9RT AISUToTAT JHaTRIGR HRIEET STael.

9) AT 3TgR UARl B SRTCIeT fhTRT STERi=AT vl RS AN TSI e kot qut el
STEeT S HERIFRIAT U0 dT0R UGN ORaRIT STd.

P) RIS STHRAT |d Tl gludhedy R et Siecar Sidie.

) ATDI ST3RAA WISTAATS! 3TN YSTeT SUHUIRATS! HICH O] UI—T SHIVIRIATS! dheted] @t
qUT WRUTS APRBGA el STTRel.

gl IR :

q) (1) Bh Q) () 3T (9) ek 3) () 3NN () Heh  8) (3) 3T (8) eh

HERTE IISTAFT ARRY HaT GauRia At : AgRIY, WIRd 3101 ST e / Yg
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If National Water Mission is properly and completely implemented, how will it impact the country?

a) Part of the water needs of urban areas will be met through recycling of waste-water.

b) The water requirements of coastal cities with inadequate alternative sources of water will be
met by adopting appropriate technologies that allow for the use of ocean water.

c¢) All the rivers of Himalayan origin will be linked to the rivers of peninsular India.

d) The expenses incurred by farmers for digging bore-wells and for installing motors and pump-
sets to draw ground-water will be completely reim-bursed by the Government.

Answer Options :

1) (a) only 2) (a) and (b) only 3) (c) and (d) only 4) (a) and (d) only

GTellefdeh! DIV Ugd Qe STRAURUTRIIG! Had & e ?

3) ST FeAnTT A T I

q) Qcrer amft SuaTgdf ST erepur

%) firprar sr@Ry S g o

Tt S :

9) (31) omfdr (@) ek R) (3N) 3T () 3) (3) T () 8) (31), () 3mfvr ()
Which of the following practices can help in water conservation in agriculture?

a) Reduced or zero tillage of the land

b) Applying gypsum before irrigating the field

c¢) Allowing crop residue to remain in the field

Answer Options :
1) (a) and (b) only 2) (a) and (c) 3) (b) and (¢) 4) (a), (b) and (¢)

¥) MRl g9RIg<it

SR Tre! fEHTeRITT UaTT dhefld, TR JreTell WTetierdehl Piur areclt FRafifeniem ared srfeard it 2
31) 3N q) JeISH ®) qGT

gt SR :

9) (1) SMfor () Beh ) () M () 3) (@) ST () 8) (31), (3) amfor ()
If you travel through the Himalayas, you are likely to see which of the following plants naturally
growing there?

a) Oak b) Rhododendron ¢) Sandalwood
Answer Options :
1) (a)and (b) only 2) (a) and (¢) 3) (b) and (c) 4) (a), (b) and (¢)

Ve Fed' Heuid Wiellelidl BIv f[um sRIsR 318/ 3M8 ?
31) g ST YRATde Tt TG 3MGRUTRT J&i STl 3R,
9) ¢ SR YR St usi=g SiTelrdler atd qedrd gal 31T,

it S
9) (37) Heh R) (¥) wch
3) (31) iy (9) el 8) (1) fobar (3) SErEr ATt

TERTY ST AR WA qdoie Arnft : AgRIy, YR 37for S st / 4o
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Which of the following statement is/are correct with reference to ‘Red Sanders’ ?

a) It is a tree species found in a part of South India.

b) It is one of the most important trees in the tropical rain forest areas of South India.
Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

HRAT, Wleledeh! P YhRSAT SRIATT ANEH & TRd J& STl 377g ?

9) IUEBICILT 3T, TFFTE Sel R) ST kIR SiTet

3) ST B Fgu ST ) TIdTes TeRTg FHdsr Ser

In India, in which one of the following types of forests is teak a dominant tree species?
1) Tropical moist deciduous forest 2) Tropical rain forest

3) Tropical thorn scrub forest 4) Temperate forest with grasslands

HRAT T WIeTeTieh! DU TeeTd WRES SiTel, AR SiTel AT UHsierd Siet 311 ?
9) I fHR 31y T ?) EfeuT-uf3Ed e
3) ST ARy 8) 3G YT PR e

Which one of the following regions of India has a combination of mangrove forest, evergreen
forest and deciduous forest?

1) North Coastal Andhra Pradesh 2) South-West Bengal

3) Southern Saurashtra 4) Andaman and Nicobar Islands
Gleflel IS R T

) VRS T 9) feamret uear ®) feiRm

gt} SR :

q) (1) 3T (&) weh ) (3) M7 () 3) (¥) o (a5) 8) (31), () Snfor ()
In which of the following states do "Tropical Wet Evergreen Forests" occur?
a) Arunachal Pradesh  b) Himachal Pradesh ¢) Mizoram

Answer Options :
1) (a)and (b) only 2) (a) and (¢) 3) (b) and (¢) 4) (a), (b) and (¢)

YRl YepT fAfe vene, wu1fies cliep e sirerear o1 JaTeredl felig Fotgd Yol adur
TITRIETOT ST, SRISTAT 968 STl TRIc @ Yl Hoted gl ST, @ 3ifgaar ‘fotfeg we ot 7 e
9) HETeTT Q) fearaat uear 3) SIRES 8) G

In a particular region in India, the local people train the roots of living tree into robust bridges
across the streams. As the time passes these bridges become stronger. These unique ‘Living Root
Bridges’ are found in

1) Meghalaya 2) Himachal Pradesh  3) Jharkhand 4) Tamil Nadu

TERTY ST AR Ja1 qdoie Jrenft : 7gRIy, YR 37for S st / 4¢
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4) YRS FIION, ST S, IARY

TP ST WRE &3 g HR Tl IoTrehiel ~afiiep STfeary ST, T 9T I7 0T f1hR ROTRT
PIVITE! ERT UTOT TG Toch SAUART TE S T ARG UG 3ATel 32, & @leteruch! vl
oroft 3Rg_ repat 2

q) IRAT SHelt, E Q) RIS TMed  3) R IR 8) WRA Teid

A sandy and saline area is the natural habitat of an Indian animal species. The animal has no predators
in that area but its existence is threatened due to the destruction of its habitat. Which one of the

following could be that animal ?
1) Indian wild, buffalo 2) Indian -wild ass 3) Indian wild boar 4) Indian gazelle

SR reTeT gRieT e -fiie AR Ugrid Sdie], IR HE SUIRITC! Wietietudh! v foepmor 3T
3e ?

q) TR TR Q) des 7Sy

3) gferpe aaa ) SR

If you want to see gharials in their natural habitat, which one of the following is the best place to
visit?

1) Bhitarkanika Mangroves 2) Chambal River

3) Pulicat Lake 4) DeeporBeel

yafaRuii SepHI, d HTe 31Ifor ufed |re Jreamdiel U IHTe gal Feul @ieiieider! PIurd A Jerd
R ?

9) HAIHITH T Yhed R) T@Hell a7

3) TR IR I Q) 9T IRINEhISR Rereg

From the ecological point of view, which one of the following assumes importance in being a
good link between the Eastern Ghats and the Western Ghats?
1) Sathyamangalam Tiger Reserve 2) Nallamala Forest

3) Nagarhole National Park 4) Seshachalam Biosphere Reserve

TATeAthT DIV TERT e g Stafafderten SR SR THIT I 3RAelel Soigel TUH g
A8 ?

9) PRSI I R) Pel ARSI IET I

3) Paciqd °MT T I 8) G IERT eI

Which of the following National Parks is unique in being a swamp with floating vegetation that
supports a rich biodiversity?

1) Bhitarkanika National Park 2) Keibul Lamjao National Park

3) Keoladeo Ghana National park 4) Sultanpur National park

RgTeAedeh! PIvT MET I SWbedey o Sursiamfeatliy, guefidrsor anfor anfaces sy gar ™=
e ?

9) WRiesT I I Q) igrdt Ity e
3) FIBIRT et 1T e 8) AT TERT S

TERTE XISTa3e ATRT a1 geoder At | 9gRIY, YRa Mfor ST el / 4]
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Which one of the following National Parks has a climate that varies from tropical to subtropical,
temperate and arctic?

1) Khangchendzonga National park 2) Nandadevi National Park

3) Neora Valley National Park 4) Namdapha National park

RS TIONT IRV WTefleTih! BT I 377 ?

9) IRV e ?) AR 3) HaTeR g) ANTetS
In which one of the following States is Pakhui Wildlife Sanctuary located?
1) Arunachal Pradesh  2) Manipur 3) Meghalaya 4) Nagaland

WTeiieidh! PIorctt /T et /Siea RISk Seselt /T MM/ 37ed ?
31) ST Y Yhed AR

) THdT gt - Ry

P) AT FIRaR IS

Tt S :

9) (@) ST (&) ®H Q) (31), () M (F) 3) () Fh 8) (1) amfor ()
Which of the statements given below is/are correct ?

a) DampaTigerReserve : Mizoram

b) Gumti Wildlife : Sikkim

¢) Saramati Peak :  Nagaland

Answer Options :

1) (b)and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)

Wiefiedd PIord TET Ie guinor FHEAAIST SeursT SHHe 3 ?

9) AT IER I Q) THSHI IE e

3) HIRT eft Il e Q) el 3fh Follds HeMel UTdh

Which one of the following National Parks lies completely in the temperate alpine zone?
1) Manas National Park 2) Namdapha National Park

3) Neora Valley National Park 4) Valley of Flowers National Park

MRATAT dTesde PRI IAFTAT Ui, Wietietdeh! PIurel fe™ sRIeR 3med ?

31) g N Ricared TiRelel .

§) ST 31T g=dT It ATal.

@) g UC ST Reda A4t e U IR,

it S

9) Wheh 37 3MUT § ) § 3701 & heh 3) 37 30T P Heh ¥) o, § 2 &
With reference to India’s Desert National Park, which of the following statements are correct?
a) Itis spread over two districts.

b) There is no human habitation inside the Park.

¢) Itis one of the natural habitats of Great Indian Bustard.

Answer Options :

I)aandb only 2) bund c only 3)aand c only 4)a,bandc

HERTE IISTART ARRY HaT GEuRieT ARl : 9gRIg, IR 301 SIRTfae et / §o
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(90) YR : WY, Foll AT, eI, JIEcd ST Wied,

IER, AR
YR @fot g ot ares
YRl SN 9 FTUR
HRATI S AT AT qfeT
YRATT 9TaR
q9) YR @RS T SHolt AreE

DI ST ST IRITE! AR ARGT T PIBATAT ST BT PRl ?

37) WRATE F:d PIBATT AIS HITIRATS! ST B0l AT FLITAT ATIRTATC! SR S TR ROl
2 RV 372

9) HRATleT 9gcieh ISt Hebed PIod2MTeR ST ST SO T QAT <hlebITeT AT YRaST &S5 e
AT,

B) UIeAlS BT HISAT YHTUNT P o< ANl T SNTATe ehxidT ARTal.

R PO AU SRISR 31T/ 3T ?

9) (@) S (&) ®h - R) (3), (@) 3 (F) 3) () Fh 8) (1) 3for ()

Despite having large reserves of coal, why does India import millions of tonnes of coal?

a) It is the policy of India to save its own coal reserves for future, and import it from other
countries for the present use.

b) Most of the power plants in India are coal-based and they are not able to get sufficient supplies
of coal from within the country.

c) Steel companies need large quantity of coking coal which has to be imported.

Which of the statements given above is/are correct?
1) (b) and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)

WTefiertd! TR Diwmrd! dfimes /Afred o/ 31med ?

37) 39 G At

¥) FH o Tl

%) PH G Foldd IIHIH

it S :

9) (@) 3T () B ) (31), () MU (F) 3) () Bh 8) (37) Ao ()
Which of the following is/are the characteristic/characteristics of Indian coal?

a) High ash content

b) Low sulphur content

c) Low ash fusion temperature

Answer Options :
1) (b) and (c) only 2) (a), (b) and (¢) 3) (c) only 4) (a) and (c)
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HRATAT FEHTT Wletierddh! Prordt e sRIsR 31med ?

37) AFTSISE & g WS /Urgar |Aid (rare earths) 37T

¥) AFTeEcHEY RIH IR

&) ARATNS FY0T AR fATRUSIAT aGHE AR RINHRT e,
8) YRAId, Phacs RPN TXAT FHTSASCaR Uieham % Idard fohar o Frafa % erepdrd.
Tt W :

q) (31), (3) 3Tfor () ek ?) (1), (3) amfor (8) eh
3) (@) ST (3) weh 8) (31), (3), (P) 31fdr (3)
With reference to India, which of the following statements are correct?

a) Monazite is a source of rare earths.

b) Monazite contains thorium.

¢) Monazite occurs naturally in the entire Indian coastal sands in India.

d) In India, Government bodies only can process or export monazite.
Answer Options :

1) (a), (b) and (c) only 2) (a), (b) and (d) only
3) (c) and (d) only 4) (a), (b), (c) and (d)
RGTeAIAtdhT PO I RIS 31T /3T ?

37) =fifer ARy MeaT deHed 3Tl

q) PIEHME YD oD THIIN STl

) URAR g Ugfergmsrel TRig 3iee.

gt SR :

q) (1) Hh R) (31) omfor (3) B 3) (3N), (¥) o7 (&) ) () M () weh
Which of the statements given below is/are correct?

a) Natural gas occurs in the Gondwana beds.

b) Mica occurs in abundance in Kodarma.

c) Dharwars are famous for petroleum.

Answer Options :

1) (a) only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only
HRATET Wletiedehl PIuT Held el argd Al MMEoNd ?

31) o IR ) PR @R ®) POM-TeR @R

oift SR :

q) (1) Hh R) (3) 3nfor () 3) (a1) enfor () 8) (1), () 3o ()
In which of the following regions of India are shale gas resources found?

a) Cambay Basin b) Cauvery Basin ¢) Krishna-Godavari Basin

Answer Options :

1) (b) only 2) (b) and (¢) 3) (a) and (¢) 4) (a), (b) and (¢)
GTefietidh! DI fem SRR 31ed /3med ?

31) YRAd, I IRBRHAT TR pos<ar @rofian foretra awvamn iftrepR A 1g).

) 3MY YT I SIRGSHED FaraT Woft Argld.

P) IORAHED ANGSrT @ofl 31d.

gl IR :

q) (P) Wb Q) () 3nfor (9) ek 3) (), () 3 (B) 8) (&) 3T (h) Feh
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Which of the statements given below is/are correct?

a) In India, State Governments do not have the power to auction non-coal mines.

b) Andhra Pradesh and Jharkhand do not have gold mines.

¢) Rajasthan has iron ore mines.

Answer Options :

1) (c) only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only

TRATdA ‘Ricgr @S hreeed’dT SeT/3Ie9T ST 31/ 3ed ?

31) @S g Nieaed Wit Sea IUBHHET ATeT <ol

q) WUHM THIT STeled] RhicdT fedTe &1 ol

&) 5T IRBRAT G SRIFRIIS IRaH TS STt aor

i SR :

9) (@) ST (&) wh ) (3), () M (F) 3) (I) Fh 8) (1) amfor ()
What is/are the purpose/purposes of ‘District Mineral Foundations’ in India?

a) Promoting mineral exploration activities in mineral-rich districts

b) Protecting the interests of the persons affected by mining operations

c¢) Authorizing State Governments to issue licences for mineral exploration

Answer Options :
1) (b) and (c) only 2) (a), (b) and (c) 3) (b) only 4) (a) and (c)

TeficTueh! PIURT fIe /= aRIsR 3MTg/ 37Ted ?

31) $feRT Mmeffer Ag@RaTel AR FRBRA PIGAT &FAT TFRIDROT et

g) 31T, PidAT WU gley diext Uge= el S

&) IAcilepeddid, TR SR JRAGITH! BHTR uf SRUITATS] BIcSHT STRITT el 31, W AT IR
P ST FIIYU STl 3.

Tt SR :

q) (1) wh R) (87) omflr (3) ww 3) (31), (3) 1 () 8) () N (F) Feh

Which of the statements given below is/are correct ?

a) Coal sector was nationalized by the Government of India under Indira Gandhi.

b) Now, coal blocks are allocated on lottery basis.

c) Till recently, India imported coal to meet the shortages of domestic supply, but now India is
self-sufficient in coal production.

Answer Options :
1) (a)only 2) (a) and (b) only 3) (a), (b) and (¢) 4) (b) and (c) only

GIeiieieh! PIvrch Wior € Sfigauul T et Feu el STTd ?

31) deMEe q) PiEe &) PRITRC ) fuferrse

gt IR :

9) Wheh 37 3MUT § ) Beh $ 3) 37 3701 P Heh ¥) §, & AT T Heh
Which of the following is/are officially designated as major minerals?

a) Bentonite b) Chromite c¢) Kyanite d) Sillimanite
Answer Options :

1)aandb only 2)d only 3)aand c only 4)b, cand d only

HERTE IISTART ARRY HaT GauRia At : AgRIY, WIRd 3710 ST Fie / €3
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Tttt P/t faem= /3 sRisR 31ed /3med ?

37) ORITHE HRATIA Faid A5 AR I 37T,

) IRBAR QU0 ARSoIER IEURT SORRIET AT 3.

P) MATT URAA Faid AIST TRIURT IR hIci@iecgd Udhed 3Me.
gt SR :

q) (31) snfor (3) ?) () wh 3) (a1) amfor () 8) (&) Hh
Which of the statements given below is/are correct?

a) Gujarat has the largest solar park in India.

b) Kerala has a fully solar powered International Airport.

c¢) Goa has the largest floating solar photovoltaic project in India.
Answer Options :

1) (a) and (b) 2) (b) only 3) (a) and (¢) 4) (c) only
3) YRAKIS SEIT g AR
HRATT UleTg Scded SN ... 3T IR0 aTHIH Mg
9) Aleedier ?) Vb BRWIC 3) PIfHT Pplesd ) Rt A
In India the steel production industry requires the import of
1) saltpeter 2) rock phosphate 3) coking coal 4) All of the above

WTefleTieh! BHANS! FeleT FelT TFHT 3R 20 ?

37) TR AT FTUHH

q) QAT HicrdT R

%) Ryed Sae

gl SR :

9) Wheh 37 3MUT § ) § 31 P Heh 3) 37 30T & Heh g) o, § 271 &
Steel slag can be the material for which of the following?

a) Construction of base road

b) Improvement of agricultural soil

¢) Production of cement

Answer Options :

1)aandb only 2) b and c only 3)aand c only 4)a,bandc

RgTefleTddh! PIv URARD TS/ HsiahadT SRS TRTg 31 ?

31 VR ) Ty ®) PEAGH g) Pt

IR SR :

q) (3 3lor () &k ) (9) MO (P) b 3) () 300 () Beh ) (1) 3 () Beh
Which of the following are famous for the production of traditional sarees/fabric?

a) Bhadrachalam b) Chanderi c¢) Kancheepuram d) Karnal

Answer Options :
1) (a)and (b) only 2) (b) and (c) only 3) (c) and (d) only 4) (a) and (c) only
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RgTeAerieh! PIUMe “UiMfotes Hohd' Sol QUaTd 3Nl 31 /Tl 318 ?

37) SIRY siiched 3TTfOT AT

) ST S-S —TRAT

) feroudt g

i SR :

q) () v R) (@) smfor () 3) (a1) Sfor () 8) (31), (&) smfor ()
Which of the following has/have been accorded ‘Geographical Indication’ status?

a) Banaras Brocades and Sarees

b) Rajasthani Daal-Bati-Churma

¢) Tirupathi Laddu

Answer Options :

1) (b)only 2) (b) and (¢) 3) (a) and (¢) 4) (a), (b) and (¢)

3) YRAIIA arac 3ol wed

GIeTicTueh! PIUT IS e STeidlieriigR TG SIISUINIGT HiF 3ideelid de3 STuvaml ey
Rl 3R ?

q) Sy Q) Tl 3) Ticd 8) TSRS

Recently, which of the following States has explored the possibility of constructing an artificial
inland port to be connected to sea by a long navigational channel?

1) Andhra Pradesh 2) Chhattisgarh 3) Karnataka 4) Rajasthan
GTeTcTieh! DIV /T TSt/ SISl SRISR Jovelt /T 3T/ 3TTed ?

RIS TR STER SAlsett

37) NH 4 TS ST LRSS,

¥) NH6 Hgg SMOT DleTepra

@) NH 15 STEHSIETG ST STIUTR

IR SR :

q) (31) M (&) Beh  ?) (3N), (d) N (&) 3) () Beh 8) TTIRT Te!

Which of the pair/s given below is/are correctly matched ?
National Highways Cities connected

a) NH 4 Chennai and Hyderabad.
b) NH 6 Mumbai and Kolkata
¢)NH 15 Ahmedabad and Jodhpur
Answer Options :
1) (a)and (b) only 2) (a), (b) and (¢) 3) (c) only 4) None
Tt vt /T S /e SRR oot /T 3R/ 3 ?
<itefer WS
31) sfidiem TgqeT feed
¥) MPRIR HTTHIST TR
P) g Hgled feesdt
qif SR :
q) (31) weh R) (31) 3Mfdr (9) weh  3) (3), (9) 37V (&) ) () M (&) Feh
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Which of the pair/s given below is/are correctly matched ?
Place of Pilgrimage Location

a) Srisailam Nallamala Hills

b) Omkareshwar Satmala Hills

¢) Pushkar Mahadeo Hills

Answer Options :

1) (a)only 2) (a) and (b) only 3) (a), (b) and (c¢) 4) (b) and (c) only

SR qFel I o Digm Tid AT TR R 3RATel, TR HRAT e AT fobelt I 3MTed ST el
UaRT % QhdT, ST H AT TR FHIIE 3778 2

) & ) 3) ¢ 8) %

If you travel by road from Kohima to Kottayam, what is the minimum number of States within

India through which you can travel, including the origin and the destination?
1)6 2)7 3)8 4)9

¥) WRATAI 9TER
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